"
O
=
-
S




HDS Pro

HDS-16 PRO
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Lowrance HDS-16 PRO, No Transducer. 16" SolarMAX HD IPS display, Dual 1kW sonar with ~ 18483.15  22734.27
000-16006-001 CHIRP, Activelmaging™ HD ready. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Lowrance HDS-16 PRO with Activelmaging™ HD 3-in-1 transducer. 16" SolarMAX HD IPS 19353.15 23804.37
000-15991-001 display, Dual 1kW sonar with CHIRP. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Accessories
Part Number Description R'?:Lﬁ()c" 3?;6',}5'
. ) . 413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW
000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
2157.40  2653.60
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver.
. . . N 1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
7455.83  9170.67
000-13335-001 NAC-2 Autopilot Core Pack - Comes with NAC-2 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.
10944.17 13461.33
000-13336-001 NAC-3 Autopilot Core Pack - Comes with NAC-3 Autopilot Computer, Precision-9 Compass

and RF-25N Rudder Feedback unit.

9698.33  11928.95
NAC-3 VRF Autopilot Core Pack - Comes with NAC-3 Autopilot Computer and Precision-9

000-13338-001 Compass.

6229.17  7661.88

NAC-2 VRF Autopilot Core Pack - Comes with NAC-2 Autopilot Computer and Precision-9

000-13337-001 Compass.

S5100 High-performance CHIRP sonar module. Three fully independent channels able to 7456.60 9171.62
000-13260-001 deliver high-resolution sonar coverage across multiple depth ranges, precision-focused for
offshore sportfishing anglers.

1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

317.40 390.40

HDMI Cable with vibration resistant and waterproof connector on one end to connect to
000-12742-001 Navico MFDs with HDMI port.

Prices effective as of 31 Jan 2025 14950 Page: 1 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

529.00 650.67

000-12741-001 HDMI Cable with vibration resistant and waterproof connector on one end to connect to
Navico MFDs with HDMI port.

16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot

000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin

000-16062-001 connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

229540  2823.34

Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the
000-16060-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

252540  3106.24

Activelmaging™ HD 3-in-1 (High/Wide)— SideScan Fish Reveal. Delivers the
000-16061-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

455.40 560.14

000-11010-001 HDS Video Adapter Cable
Spare Parts
Part Number Description R?SL%CI' R’(?g&%l
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40 2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
000-16062-001 connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

220.75 271.53
000-16088-001 HDS-16 PRO Bezel and SD Door

179.40 220.66
000-14585-001 HDS-16 LIVE/PRO Suncover

Prices effective as of 31 Jan 2025 14950 Page: 2 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

409.40 503.56

000-14589-001 HDS-16 LIVE/PRO Bracket and Knobs

170.15 209.29
000-0127-49 Lowrance Power/0183 Cable for HDS, EliteTi/Ti2 and HOOK Gen1 series.

101.15 124 .42
000-0124-70 CAP-1 - Set of connector caps for HDS series

Prices effective as of 31 Jan 2025 14950 Page: 3 of 113



HDS Pro

HDS-12 PRO
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Lowrance HDS-12 PRO, No Transducer. 12" SolarMAX HD IPS display, Dual 1kW sonar with ~ 11740.65 14441.00
000-16003-001 CHIRP, Activelmaging™ HD ready. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Lowrance HDS-12 PRO with Activelmaging™ HD 3-in-1 transducer. 12" SolarMAX HD IPS 12610.65 15511.10
000-15988-001 display, Dual 1kW sonar with CHIRP. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW
000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
2157.4 2653.
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver. 57.40 653.60
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
7455.83  9170.67
000-13335-001 NAC-2 Autopilot Core Pack - Comes with NAC-2 Autopilot Computer, Precision-9 Compass

and RF-25N Rudder Feedback unit.

6229.17  7661.88

NAC-2 VRF Autopilot Core Pack - Comes with NAC-2 Autopilot Computer and Precision-9

000-13337-001 Compass.

10944.17 13461.33
000-13336-001 NAC-3 Autopilot Core Pack - Comes with NAC-3 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.

9698.33 11928.95
NAC-3 VRF Autopilot Core Pack - Comes with NAC-3 Autopilot Computer and Precision-9

000-13338-001 Compass.

S5100 High-performance CHIRP sonar module. Three fully independent channels able to 7456.60  9171.62

000-13260-001 deliver high-resolution sonar coverage across multiple depth ranges, precision-focused for
offshore sportfishing anglers.

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

Prices effective as of 31 Jan 2025 14950 Page: 4 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

317.40 390.40

HDMI Cable with vibration resistant and waterproof connector on one end to connect to
000-12742-001 Navico MFDs with HDMI port.

529.00 650.67

HDMI Cable with vibration resistant and waterproof connector on one end to connect to
000-12741-001 Navico MFDs with HDMI port.

16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

. ) ) . 7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot

000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40 2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin

000-16062-001 connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

229540  2823.34

Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the
000-16060-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

252540  3106.24

Activelmaging™ HD 3-in-1 (High/Wide)— SideScan Fish Reveal. Delivers the
000-16061-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00 1363578

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

455.40 560.14
000-11010-001 HDS Video Adapter Cable

Spare Parts

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
connector.

000-16062-001 Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS

Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

Prices effective as of 31 Jan 2025 14950 Page: 5 of 113



HDS Pro

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)

271.40 333.82
000-16087-001 HDS-12 PRO Bezel and SD Door

147.15 181.00
000-14584-001 HDS-12 LIVE/PRO Suncover

363.40 446.98
000-14588-001 Lowrance HDS-12 LIVE/PRO & Elite FS-12 Bracket and Knobs

170.15 209.29
000-0127-49 Lowrance Power/0183 Cable for HDS, EliteTi/Ti2 and HOOK Gen1 series.
000-0124-70 CAP-1 - Set of connector caps for HDS series 10115 12442

Prices effective as of 31 Jan 2025 14950 Page: 6 of 113



HDS Pro

HDS-10 PRO
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Lowrance HDS-10 PRO, No Transducer. 10" SolarMAX HD IPS display, Dual 1kW sonar with 8695.65 10695.65
000-16000-001 CHIRP, Activelmaging™ HD ready. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Lowrance HDS-10 PRO with Activelmaging™ HD 3-in-1 transducer. 10" SolarMAX HD IPS 9565.65 11765.75
000-15985-001 display, Dual 1kW sonar with CHIRP. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW
000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
2157.4 2653.
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AlS receiver. 57.40 653.60
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
7455.83  9170.67
000-13335-001 NAC-2 Autopilot Core Pack - Comes with NAC-2 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.
10944.17 13461.33
000-13336-001 NAC-3 Autopilot Core Pack - Comes with NAC-3 Autopilot Computer, Precision-9 Compass

and RF-25N Rudder Feedback unit.

9698.33 11928.95
NAC-3 VRF Autopilot Core Pack - Comes with NAC-3 Autopilot Computer and Precision-9

000-13338-001 Compass.

6229.17  7661.88

NAC-2 VRF Autopilot Core Pack - Comes with NAC-2 Autopilot Computer and Precision-9

000-13337-001 Compass.

S5100 High-performance CHIRP sonar module. Three fully independent channels able to 7456.60  9171.62

000-13260-001 deliver high-resolution sonar coverage across multiple depth ranges, precision-focused for
offshore sportfishing anglers.

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

Prices effective as of 31 Jan 2025 14950 Page: 7 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'
16141.73  19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
3077.40  3785.20
000-12607-001 Eé?v?/igiﬁn-g Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®
. . . . 7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot
000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40 2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
000-16062-001 gonnector.
Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.
229540  2823.34
Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the
000-16060-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.
252540  3106.24
Activelmaging™ HD 3-in-1 (High/Wide)— SideScan Fish Reveal. Delivers the
000-16061-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.
563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon
HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90
000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.
HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78
000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.
HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60
000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.
455.40 560.14
000-11010-001 HDS Video Adapter Cable
Spare Parts
Part Number Description RTEL%X)C" R(gg(;f,}sl
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
connector.
000-16062-001 Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.
220.75 271.53
000-16057-001 HDS-10 PRO Bezel and SD Door
299.00 367.77
000-16056-001 HDS-10 PRO / Elite FS-10 Bracket
147.20 181.06
000-16059-001 HDS-10 PRO Suncover
Prices effective as of 31 Jan 2025 14950 Page: 8 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

170.15 209.29

000-0127-49 Lowrance Power/0183 Cable for HDS, EliteTi/Ti2 and HOOK Gen1 series.

101.15 124.42
000-0124-70 CAP-1 - Set of connector caps for HDS series

Prices effective as of 31 Jan 2025 14950 Page: 9 of 113



HDS Pro

HDS-9 PRO
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
Lowrance HDS-9 PRO, No Transducer. 9" SolarMAX HD IPS display, Dual 1kW sonar with 7390.65  9090.50
000-15997-001 CHIRP, Activelmaging™ HD ready. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with
waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Lowrance HDS-9 PRO with Activelmaging™ HD 3-in-1 transducer. 9" SolarMAX HD IPS 8260.65 10160.60
000-15982-001 display, Dual 1kW sonar with CHIRP. Networkable to Lowrance performance sonars

(ActiveTarget™ and ActiveTarget™2), Radars, Trolling Motors, and Autopilots along with

waypoint, chart, and sonar sharing. Worlwide basemap (chart card required).

Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW
000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
2157.4 2653.
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver. 57.40 653.60
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
7455.83  9170.67
000-13335-001 NAC-2 Autopilot Core Pack - Comes with NAC-2 Autopilot Computer, Precision-9 Compass

and RF-25N Rudder Feedback unit.

9698.33 11928.95
NAC-3 VRF Autopilot Core Pack - Comes with NAC-3 Autopilot Computer and Precision-9

000-13338-001 Compass.

6229.17  7661.88

NAC-2 VRF Autopilot Core Pack - Comes with NAC-2 Autopilot Computer and Precision-9

000-13337-001 Compass.

10944.17 13461.33
000-13336-001 NAC-3 Autopilot Core Pack - Comes with NAC-3 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.

S5100 High-performance CHIRP sonar module. Three fully independent channels able to 7456.60  9171.62

000-13260-001 deliver high-resolution sonar coverage across multiple depth ranges, precision-focused for
offshore sportfishing anglers.

1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 5055.40  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

Prices effective as of 31 Jan 2025 14950 Page: 10 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'
16141.73  19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
. . . . 7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot
000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
3077.40  3785.20
000-12607-001 Eé?v?/igiﬁn_g Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40 2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
000-16062-001 gonnector.
Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.
229540  2823.34
Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the
000-16060-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.
252540  3106.24
Activelmaging™ HD 3-in-1 (High/Wide)— SideScan Fish Reveal. Delivers the
000-16061-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.
563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon
HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90
000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.
HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78
000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.
HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60
000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.
455.40 560.14
000-11010-001 HDS Video Adapter Cable
Spare Parts
Part Number Description RTEL%X)C" R(gg(;f,}sl
Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
connector.
000-16062-001 Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.
220.75 271.53
000-16086-001 HDS-9 PRO Bezel and SD Door
161.00 198.03
000-14583-001 HDS-9 LIVE/PRO Suncover
271.40 333.82
000-14587-001 HDS-9 LIVE/PRO / Elite FS9 Bracket and Knobs

Prices effective as of 31 Jan 2025 14950 Page: 11 of 113



HDS Pro

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

170.15 209.29

000-0127-49 Lowrance Power/0183 Cable for HDS, EliteTi/Ti2 and HOOK Gen1 series.

101.15 124.42
000-0124-70 CAP-1 - Set of connector caps for HDS series

Prices effective as of 31 Jan 2025 14950 Page: 12 of 113



Elite FS™

Elite-12 FS
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Elite™ FS 12 with Active Imaging 3-in-1 Transducer (ROW): The Elite™ Fishing System (FS) ~ 10000.65 12300.80
gives you access to the full line-up of Lowrance fishfinding tools — including ActiveTarget™ 2
000-16440-001 live sonar, Active Imaging™ and Active Imaging™ HD* and preloaded C-MAP® Discover
Onboard charts — to help you make the most of your time on the water.*Active Imaging HD
requires S3100 Module

Elite™ FS 12 No Transducer (ROW): The Elite™ Fishing System (FS) gives you access tothe =~ 9348.15 11498.22
full line-up of Lowrance fishfinding tools — including ActiveTarget™ 2 live sonar, Active

000-16439-001 Imaging™ and Active Imaging™ HD* and preloaded C-MAP® Discover Onboard charts — to
help you make the most of your time on the water.*Active Imaging HD requires S3100
Module
Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.

1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates

000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts

. ) . 413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW

000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.

14088.96 17329.42

000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
2157.40  2653.60

000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver.

15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1099.40 1352.26

000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.
16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
1421.40 1748.32
000-10029-001 NEP-2 Network Expansion Port enables multiple displays to exchange chart data, waypoint

and route information, as well as interconnecting radar and echosounder modules.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot
000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

000-16446-001 Elite™ FS 12 Flushmount kit 94.71 116.50

Prices effective as of 31 Jan 2025 14950 Page: 13 of 113



Elite FS™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Activelmaging™ 3-IN-1 combines the new Active Imaging sonar with traditional Medium/High 166515 2048.14

000-14489-001 CHIRP sonar for easy single transducer installation. 7.6m (25ft) cable with 9 pin connector.

1665.20  2048.20

000-12568-001 TotalScan™ Transducer with Medium/High Chirp and 455/800kHz Down and SideScan. 7m

(24ft) Cable.
000-16444-001 Protective suncover for Elite FS 12 147.20 181.06
78.11 96.07

000-15777-001 Corner Clip ELITE-7, 9, 10, and 12 FS

363.40 446.98
000-14588-001 Lowrance HDS-12 LIVE/PRO & Elite FS-12 Bracket and Knobs

151.75 186.66
000-14041-001 2-Wire POWER ONLY cable for Mark, Elite, Hook, Elite Ti, HDS.

Prices effective as of 31 Jan 2025 14950 Page: 14 of 113



Elite FS™

Elite-10 FS
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Elite™ FS 10 with Active Imaging 3-in-1 Transducer (ROW): The Elite™ Fishing System (FS) 7390.65  9090.50
gives you access to the full line-up of Lowrance fishfinding tools — including ActiveTarget™ 2
000-16438-001 live sonar, Active Imaging™ and Active Imaging™ HD* and preloaded C-MAP® Discover
Onboard charts — to help you make the most of your time on the water.*Active Imaging HD
requires S3100 Module

Elite™ FS 10 No Transducer (ROW):The Elite™ Fishing System (FS) gives you access to the 6738.15  8287.92
full line-up of Lowrance fishfinding tools — including ActiveTarget™ 2 live sonar, Active

000-16437-001 Imaging™ and Active Imaging™ HD* and preloaded C-MAP® Discover Onboard charts — to
help you make the most of your time on the water.*Active Imaging HD requires S3100
Module
Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
2157.40  2653.60
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver.

) . . 413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW

000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD
transducers.
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass

. . . » 1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates

000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1099.40 1352.26

000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.
16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
1421.40 1748.32
000-10029-001 NEP-2 Network Expansion Port enables multiple displays to exchange chart data, waypoint

and route information, as well as interconnecting radar and echosounder modules.

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot

000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
000-16445-001 Elite™ FS 10 Flushmount kit 94.71 116.50

Prices effective as of 31 Jan 2025 14950 Page: 15 of 113



Elite FS™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Activelmaging™ 3-IN-1 combines the new Active Imaging sonar with traditional Medium/High 166515 2048.14

000-14489-001 CHIRP sonar for easy single transducer installation. 7.6m (25ft) cable with 9 pin connector.

299.00 367.77
000-16056-001 HDS-10 PRO / Elite FS-10 Bracket

1665.20  2048.20

000-12568-001 TotalScan™ Transducer with Medium/High Chirp and 455/800kHz Down and SideScan. 7m

(24ft) Cable.
000-16443-001 Protective suncover for Elite FS 10 147.20 181.06
78.11 96.07
000-15777-001 Corner Clip ELITE-7, 9, 10, and 12 FS
151.75 186.66
000-14041-001 2-Wire POWER ONLY cable for Mark, Elite, Hook, Elite Ti, HDS.

Prices effective as of 31 Jan 2025 14950 Page: 16 of 113



Elite FS™

Elite-9 FS
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
ELITE FS 9 with No Transducer (ROW) 4365.40 5369.44
The new Elite™ Fishing System (FS) gives you access to the full line-up of Lowrance
000-15706-001 fishfinding tools — including ActiveTarget™ live sonar, Active Imaging™, FishReveal™ and

preloaded C-MAP® Contour™ + charts — all at a more affordable price than other
fishfinder/chartplotters in its category

ELITE FS 9 with Active Imaging 3-in-1 Transducer (ROW) 5055.40 6218.14
The new Elite™ Fishing System (FS) gives you access to the full line-up of Lowrance
000-15693-001 fishfinding tools — including ActiveTarget™ live sonar, Active Imaging™, FishReveal™ and
preloaded C-MAP® Contour™ + charts — all at a more affordable price than other
fishfinder/chartplotters in its category

Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver. 2157.40 2653.60
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
000-16145-001 Power Harness Cable for Explorer Series Pack with Elite FS 9 206.95 254.55
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 5055.40  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1099.40 1352.26

000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.
16141.73  19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
1421.40 1748.32
000-10029-001 NEP-2 Network Expansion Port enables multiple displays to exchange chart data, waypoint

and route information, as well as interconnecting radar and echosounder modules.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot
000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.

3077.40  3785.20

000-12607-001 Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

network.
000-15786-001 FLUSH MOUNT KIT: ELITEFS 9 115.00 141.45
LOWRANCE REMOTE CONTROLLER LR-1 563.82 693.50

000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

Prices effective as of 31 Jan 2025 14950 Page: 17 of 113



Elite FS™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00 1363578

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

Spare Parts
Part Number Description R?EL%CI' R’ggé%l
78.11 96.07

000-15777-001 Corner Clip ELITE-7, 9, 10, and 12 FS

271.40 333.82
000-14587-001 HDS-9 LIVE/PRO / Elite FS9 Bracket and Knobs

151.75 186.66
000-14041-001 2-Wire POWER ONLY cable for Mark, Elite, Hook, Elite Ti, HDS.

Prices effective as of 31 Jan 2025 14950 Page: 18 of 113



Elite FS™

Elite-7 FS
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
ELITE FS 7 with No Transducer (ROW) 3905.40  4803.64
The new Elite™ Fishing System (FS) gives you access to the full line-up of Lowrance
000-15702-001 fishfinding tools — including ActiveTarget™ live sonar, Active Imaging™, FishReveal™ and

preloaded C-MAP® Contour™ + charts — all at a more affordable price than other
fishfinder/chartplotters in its category

ELITE FS 7 with xSonic HDI M/H 455/800 Transducer (ROW) 413540  5086.54
The new Elite™ Fishing System (FS) gives you access to the full line-up of Lowrance
000-15697-001 fishfinding tools — including ActiveTarget™ live sonar, Active Imaging™, FishReveal™ and
preloaded C-MAP® Contour™ + charts — all at a more affordable price than other
fishfinder/chartplotters in its category

ELITE FS 7 with Active Imaging 3-in-1 Transducer (ROW) 4595.40 5652.34
The new Elite™ Fishing System (FS) gives you access to the full line-up of Lowrance
000-15689-001 fishfinding tools — including ActiveTarget™ live sonar, Active Imaging™, FishReveal™ and
preloaded C-MAP® Contour™ + charts — all at a more affordable price than other
fishfinder/chartplotters in its category

Accessories
Part Number Description R?SL?‘X)C" R(ggc;';'/sl
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
8121.95  9990.00
000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
2157.40  2653.60
000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver.
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer kit.
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 505540  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote

1421.40 1748.32

000-10029-001 NEP-2 Network Expansion Port enables multiple displays to exchange chart data, waypoint
and route information, as well as interconnecting radar and echosounder modules.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot
000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

000-15785-001 FLUSH MOUNT KIT: ELITEFS 7 115.00 141.45

Prices effective as of 31 Jan 2025 14950 Page: 19 of 113



Elite FS™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

563.82 693.50
LOWRANCE REMOTE CONTROLLER LR-1
000-14505-001
Bluetooth Remote controller for HDS Live and HDS Carbon

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

133.40 164.08

000-15778-001 SUNCOVER: ELITE-7 FS
78.11 96.07
000-15777-001 Corner Clip ELITE-7, 9, 10, and 12 FS
179.40 220.66
000-14586-001 HDS-7 LIVE Bracket and Knobs
151.75 186.66
000-14041-001 2-Wire POWER ONLY cable for Mark, Elite, Hook, Elite Ti, HDS.

Prices effective as of 31 Jan 2025 14950 Page: 20 of 113



Eagle

Eagle-4x
Main Products

Part Number Description RTI':L%X)CL R(g?l;"(;%l

685.40 843.04

000-16110-001 Eagle-4x: 4" IPS Portrait Fish Finder: Bullet transducer
Accessories
Part Number Description R'?;L?j()c" 5556%
000-16252-001 EAGLE 4" Dash gasket kit 105.80 130.13
104.51 128.55
000-16248-001 EAGLE 4" Sun cover
Spare Parts
Part Number Description R?EL%CI' R(gg(;','/:)l
000-16367-001 Eagle 4X Bullet Skimmer transducer / power cable 367.95 452.58
101.15 124.42
000-14170-001 Lowrance Hook2-4"/5", HOOK Reveal 5", Eagle-5", SIMRAD Cruise-5" quick release bracket.

Prices effective as of 31 Jan 2025 14950 Page: 21 of 113



Eagle

Eagle-5
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

1329.40  1635.16
000-16236-001 Eagle-5 No Transducer ROW: 5" IPS screen, Worldwide basemap chart. (Option to upgrade
to CMAP® DISCOVER™ charts).

1651.40  2031.22
Eagle-5 50/200 KHz ROW: 5" IPS screen, HDI 50/200 kHz transducer. Worldwide base map

000-16310-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

1559.40  1918.06
Eagle-5 83/200 KHz ROW: 5" IPS screen, HDI 83/200 kHz transducer. Worldwide base map

000-16307-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

1513.40 1861.48
Eagle-5 SplitShot™ HD ROW: 5" IPS screen, SplitShot™ HD transducer. Worldwide basemap

000-16112-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

Accessories

vt RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

62.70 77.12

000-16253-001 EAGLE 5" Dash gasket kit

104.51 128.55
000-16249-001 EAGLE 5" Sun cover

Spare Parts

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
HDI Skimmer® transducer 83/200/455/800kHz for Hook2*, Hook Reveal, and Eagle 7,9. 538.15  661.93
000-15640-001 Built-in temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector:

8-pin push fit. (*83 kHz / Mid CHIRP frequency options are not available on Hook2)

HDI Skimmer® transducer 50/200/455/800kHz for Hook2* and Hook Reveal, with built in 1108.55  1363.52
000-15639-001 temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector: 8 pin
push fit. (* 50 kHz / Low CHIRP frequency options are not available on Hook2)

459.95 565.74

000-16284-001 EAGLE SplitShot™ 8 pin transducer. 6 m (20 ft cable)
105.75 130.08
000-16314-001 EAGLE 5, 7, 9 Power cable
73.60 90.53
000-16315-001 EAGLE replacement twist locks
101.15 124.42
000-14170-001 Lowrance Hook2-4"/5", HOOK Reveal 5", Eagle-5", SIMRAD Cruise-5" quick release bracket.

Prices effective as of 31 Jan 2025 14950 Page: 22 of 113



Eagle

Eagle-7
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

1927.40  2370.70

000-16230-001 Eagle-7 No Transducer ROW: 7" IPS screen, Worldwide basemap chart. (Option to upgrade
to CMAP® DISCOVER™ charts)

2249.40  2766.76
Eagle-7 50/200 ROW: 7" IPS screen, 50/200 kHz HDI transducer, Worldwide base map chart.

000-16311-001 (Option to upgrade to CMAP® DISCOVER™ charts)

2157.40  2653.60
Eagle-7 83/200 ROW: 7" IPS screen, 83/200 kHz HDI transducer, Worldwide base map chart.

000-16308-001 (Option to upgrade to CMAP® DISCOVER™ charts)

211140  2597.02
Eagle-7 SplitShot HD ROW: 7" IPS screen, SplitShot™ HD transducer, Worldwide basemap

000-16115-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

252540  3106.24
Eagle-7 TripleShot™ ROW: 7" IPS screen, TripleShot™ HD transducer, Worldwide basemap

000-16121-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

Accessories
Part Number Description R?EL%CI' R’ggé%l
69.00 84.87
000-16254-001 EAGLE 7" Dash gasket kit
104.51 128.55
000-16250-001 EAGLE 7" Sun cover
Spare Parts
Part Number Description R?EL%X)C" 35;6[,}3'
HDI Skimmer® transducer 83/200/455/800kHz for Hook2*, Hook Reveal, and Eagle 7,9. 538.15  661.93
000-15640-001 Built-in temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector:
8-pin push fit. (*83 kHz / Mid CHIRP frequency options are not available on Hook2)
HDI Skimmer® transducer 50/200/455/800kHz for Hook2* and Hook Reveal, with built in 1108.55  1363.52
000-15639-001 temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector: 8 pin
push fit. (* 50 kHz / Low CHIRP frequency options are not available on Hook2)
104.51 128.55
000-16250-001 EAGLE 7" Sun cover
459.95 565.74
000-16284-001 EAGLE SplitShot™ 8 pin transducer. 6 m (20 ft cable)
836.33  1028.68
000-16285-001 EAGLE TripleShot™ HD 8-pin transducer. 6 m (20 ft cable)
105.75 130.08
000-16314-001 EAGLE 5, 7, 9 Power cable
000-16313-001 EAGLE 7, 9 corner clips 68.95 84.81
000-16315-001 EAGLE replacement twist locks 7360 9053

Prices effective as of 31 Jan 2025 14950 Page: 23 of 113



RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
Gimbal mounting bracket with knobs for 7" HDS Gen2 Touch/HDS Gen3/HDS 207.64 255.40
Carbon/Hook/Hook2/Hook Reveal/Elite-HDI-CHIRP/Eagle 7
000-11019-001
*Not for use with Elite-7 Ti

101.15 124.42

000-14172-001 Power Cable for Hook2, Hook Reveal & Cruise

Prices effective as of 31 Jan 2025 14950 Page: 24 of 113



Eagle

Eagle-9
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

275540  3389.14
000-16231-001 Eagle-9 No Transducer ROW: 9" IPS screen, Worldwide basemap chart. (Option to upgrade
to CMAP® DISCOVER™ charts)

2985.40  3672.04
Eagle-9 HDI ROW: 9" IPS screen, 50/200 kHz HDI CHIRP transducer, Worldwide base map

000-16124-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts).

321540  3954.94
Eagle-9 TripleShot™ ROW: 9" IPS screen, TripleShot™ HD transducer, Worldwide basemap

000-16127-001 chart. (Option to upgrade to CMAP® DISCOVER™ charts)

Accessories
Part Number Description R?EL%CI' R(;:I;(;roz:)l
96.14 118.25
000-16255-001 EAGLE 9" Dash gasket kit
112.88 138.85
000-16251-001 EAGLE 9" Sun cover
Spare Parts
Part Number Description R?EL%CI' R(;:I;(;roz:)l
HDI Skimmer® transducer 50/200/455/800kHz for Hook2* and Hook Reveal, with built in 1108.55  1363.52
000-15639-001 temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector: 8 pin
push fit. (* 50 kHz / Low CHIRP frequency options are not available on Hook2)
836.33 1028.68
000-16285-001 EAGLE TripleShot™ HD 8-pin transducer. 6 m (20 ft cable)
105.75 130.08
000-16314-001 EAGLE 5, 7, 9 Power cable
000-16313-001 EAGLE 7, 9 corner clips 68.95 84.81
73.60 90.53
000-16315-001 EAGLE replacement twist locks
229.95 282.84
000-14171-001 Gimbal Bracket for Hook2/Hook Reveal 9"

Prices effective as of 31 Jan 2025 14950 Page: 25 of 113



Eagle

Eagle Eye-9
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

4869.91 5989.99
000-16130-001 Eagle Eye™ 9 Live ROW: 9" IPS screen, Eagle Eye™ transducer, Worldwide basemap chart.
(Option to upgrade to CMAP® DISCOVER™ charts)

1835.40  2257.54
Lowrance Eagle Eye LIVE Transducer pack: Eagle Eye™ Transducer offers focused forward
000-16368-001 and down live sonar combined with CHIRP & DownScan in one transducer, exclusively
available with Eagle Eye Fishfinders. The Eagle Eye live sonar transducer is also not
compatible with other Lowrance Eagle series displays.

000-16369-001 Eagle Eye™ Transducer Trolling Motor Mount 133.40 164.08

Accessories

Part Number Description R?SL?‘X)C" R(ggc;';'/sl

1835.40  2257.54
Lowrance Eagle Eye LIVE Transducer pack: Eagle Eye™ Transducer offers focused forward
000-16368-001 and down live sonar combined with CHIRP & DownScan in one transducer, exclusively
available with Eagle Eye Fishfinders. The Eagle Eye live sonar transducer is also not
compatible with other Lowrance Eagle series displays.

000-16369-001 Eagle Eye™ Transducer Trolling Motor Mount 133.40 164.08
96.14 118.25

000-16255-001 EAGLE 9" Dash gasket kit

112.88 138.85
000-16251-001 EAGLE 9" Sun cover
000-16317-001 Transom mount bracket for Eagle TripleShot™ HD Transducer 105.80 130.13
Spare Parts

vt RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

1835.40  2257.54
Lowrance Eagle Eye LIVE Transducer pack: Eagle Eye™ Transducer offers focused forward
000-16368-001 and down live sonar combined with CHIRP & DownScan in one transducer, exclusively
available with Eagle Eye Fishfinders. The Eagle Eye live sonar transducer is also not
compatible with other Lowrance Eagle series displays.

000-16369-001 Eagle Eye™ Transducer Trolling Motor Mount 133.40 164.08

105.75 130.08

000-16314-001 EAGLE 5, 7, 9 Power cable
000-16313-001 EAGLE 7, 9 corner clips 68.95 84.81
73.60 90.53
000-16315-001 EAGLE replacement twist locks
229.95 282.84
000-14171-001 Gimbal Bracket for Hook2/Hook Reveal 9"

Prices effective as of 31 Jan 2025 14950 Page: 26 of 113



Acessories
Main Products

Part Number Description RTI':L%X)CL R(g?l;"(;%l

000-16252-001 EAGLE 4" Dash gasket kit 105.80 130.13

104.51 128.55

000-16248-001 EAGLE 4" Sun cover
ER—— 62.70 7712
000-16253-001 : EAGLE 5" Dash gasket kit
104.51 128.55
000-16249-001 EAGLE 5" Sun cover
69.00 84.87
000-16254-001 EAGLE 7" Dash gasket kit
104.51 128.55
000-16250-001 EAGLE 7" Sun cover
96.14 118.25
000-16255-001 EAGLE 9" Dash gasket kit
112.88 138.85
000-16251-001 EAGLE 9" Sun cover
000-16367-001 Eagle 4X Bullet Skimmer transducer / power cable 367.95 452.58
459.95 565.74
000-16284-001 EAGLE SplitShot™ 8 pin transducer. 6 m (20 ft cable)
836.33  1028.68
000-16285-001 EAGLE TripleShot™ HD 8-pin transducer. 6 m (20 ft cable)
000-16317-001 Transom mount bracket for Eagle TripleShot™ HD Transducer 105.80 130.13
105.75 130.08
000-16314-001 EAGLE 5, 7, 9 Power cable
000-16313-001 EAGLE 7, 9 corner clips 68.95 84.81
73.60 90.53
000-16315-001 EAGLE replacement twist locks
Accessories
Part Number Description R'?F',’L?lx)c" R(ggc;[,‘/sl
. . o . . . 252.95 311.13
000-14414-001 8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8

pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer

252.95 311.13
000-14411-001 SPLITSHOT Inline temperature sensor: Hook2/Reveal

Prices effective as of 31 Jan 2025 14950 Page: 27 of 113



Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-16317-001 Transom mount bracket for Eagle TripleShot™ HD Transducer 105.80 130.13

Prices effective as of 31 Jan 2025 14950 Page: 28 of 113



Accessories
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
. . . . . . 252.95 311.13
000-14414-001 8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8
pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer
252.95 311.13
000-14413-001 Hook2 Bullet Skimmer Transducer 10 Ft Extension Cable
Hook2 Transducer Y-Cable 284.23 349.61
000-14412-001 Allows an Active Imaging 2 in 1 or LSS-2 and HST-WSBL to be connected to a Hook2
TripleShot Display.
317.40 390.40
000-14027-001 Bullet Skimmer Transducer for Hook2-4X, with built in power cable.
455.35 560.09
000-14028-001 SplitShot Skimmer Transducer
837.15  1029.70
000-14029-001 TripleShot Skimmer Transducer. With 6 m (19.7 ft) cable.
64.35 79.16
000-14192-001 Bullet/SplitShot Transom Bracket
82.80 101.84
000-14193-001 TripleShot Transom Bracket
317.40 390.40
000-14410-001 HOOK2-4X INLINE TEMP SENSOR
151.80 186.71
000-14070-001 HOOK2-4X to 7pin Blue Transducer Adapter & Power Cable
101.15 124.42
000-14173-001 HOOK2 4x Sun Cover
101.15 124.42
000-14170-001 Lowrance Hook2-4"/5", HOOK Reveal 5", Eagle-5", SIMRAD Cruise-5" quick release bracket.
151.75 186.66
000-14068-001 7-pin Transducer to HOOK2/Reveal/Cruise Adapter Cable. Check Transducer compatability in
description!
000-14069-001 xSONIC Transducer to HOOK2/Reveal/Cruise Adapter cable. Check Transducer 151.75 186.66
compatability in Details!
101.15 124.42
000-14172-001 Power Cable for Hook2, Hook Reveal & Cruise
64.35 79.16
000-14191-001 HOOK?2 7"/9"/12", Hook Reveal 7"/9" corner clips
252.95 311.13

000-14411-001

SPLITSHOT Inline temperature sensor: Hook2/Reveal

Prices effective as of 31 Jan 2025

14950

Page: 29 of 113



Hook?2

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
101.15 124.42
000-14174-001 HOOK2 / HOOK Reveal 5" Sun Cover
101.15 124.42
000-14175-001 HOOK2 7" Sun Cover
110.35 135.74
000-14176-001 HOOK2 9" Sun Cover
229.95 282.84
000-14171-001 Gimbal Bracket for Hook2/Hook Reveal 9"
161.00 198.03
000-14177-001 HOOK2 12" Sun Cover
Accessories
Pt RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
. . o . . . 252.95 311.13
000-14414-001 8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8

pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer

Spare Parts
Part Number Description R?SL?‘X)CI' i?g&%l
64.35 79.16
000-14192-001 Bullet/SplitShot Transom Bracket
82.80 101.84
000-14193-001 TripleShot Transom Bracket

Prices effective as of 31 Jan 2025 14950 Page: 30 of 113



Portables / ICE

Ice / All season
Main Products

Part Number

000-14183-001

_— RRP excl. RRP incl.
Description (PLN) (23.0%)

HOOK2-4x All Season Pack (EU) 124195  1527.60

The world’s easiest fishfinder, HOOK2 4x Bullet offers simple menus, easy access to key
functions and Autotuning sonar. Powered by proven Lowrance® performance, HOOK2 4x
features wide-angle, Broadband sonar coverage. Just plug it in and fish, it's that easy.

000-14184-001

HOOK2-4x GPS All Season Pack (EU) 1379.95 1697.34

The world’s easiest fishfinder, HOOK2 4x GPS Bullet offers simple menus, easy access to key
functions and Autotuning sonar. Powered by proven Lowrance® performance, HOOK2 4x
GPS features wide-angle, Broadband sonar coverage, plus a simple and accurate GPS
Plotter. Just plug it in and fish, it's that easy.

000-15544-001

2126.03  2615.01
HOOK REVEAL 5 ROW ICEMACHINE: Hook Reveal 5/ Ice Transducer / Ice Bag

Accessories

Part Number

000-14088-001

At RRP excl. RRP incl.
Description (PLN) (23.0%)

685.40 843.04
HOOK2-4x Ice Transducer with power lead.

000-14089-001

547.40 673.30
Hook Reveal and Hook2 5"/7"/9"/12" Ice Transducer. 200kHz

000-14414-001

252.95 311.13
8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8
pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer

000-14413-001

252.95 311.13
Hook?2 Bullet Skimmer Transducer 10 Ft Extension Cable

000-14028-001

455.35 560.09
SplitShot Skimmer Transducer

000-14192-001

64.35 79.16
Bullet/SplitShot Transom Bracket

000-14070-001

151.80 186.71

HOOK2-4X to 7pin Blue Transducer Adapter & Power Cable

000-14173-001

101.15 124.42
HOOK?2 4x Sun Cover

000-14170-001

101.15 124.42
Lowrance Hook2-4"/5", HOOK Reveal 5", Eagle-5", SIMRAD Cruise-5" quick release bracket.

000-14068-001

151.75 186.66

7-pin Transducer to HOOK2/Reveal/Cruise Adapter Cable. Check Transducer compatability in
description!

000-14069-001

XxSONIC Transducer to HOOK2/Reveal/Cruise Adapter cable. Check Transducer 151.75 186.66

compatability in Details!

000-14172-001

101.15 124.42

Power Cable for Hook2, Hook Reveal & Cruise

Prices effective as of 31 Jan 2025

14950 Page: 31 of 113



Portables / ICE

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
252.95 311.13
000-14411-001 SPLITSHOT Inline temperature sensor: Hook2/Reveal
101.15 124.42
000-14174-001 HOOK2 / HOOK Reveal 5" Sun Cover
101.15 124.42
000-14175-001 HOOK2 7" Sun Cover
Spare Parts
e RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
547.40 673.30
000-14089-001 Hook Reveal and Hook2 5"/7"/9"/12" Ice Transducer. 200kHz
Gimbal mounting bracket with knobs for 7" HDS Gen2 Touch/HDS Gen3/HDS 207.64 255.40
Carbon/Hook/Hook2/Hook Reveal/Elite-HDI-CHIRP/Eagle 7
000-11019-001
*Not for use with Elite-7 Ti

317.40 390.40

000-14027-001 Bullet Skimmer Transducer for Hook2-4X, with built in power cable.
64.35 79.16
000-14192-001 Bullet/SplitShot Transom Bracket
101.15 124.42
000-14170-001 Lowrance Hook2-4"/5", HOOK Reveal 5", Eagle-5", SIMRAD Cruise-5" quick release bracket.
101.15 124 .42
000-14172-001 Power Cable for Hook2, Hook Reveal & Cruise
64.35 79.16
000-14191-001 HOOK?2 7"/9"/12", Hook Reveal 7"/9" corner clips

Prices effective as of 31 Jan 2025 14950 Page: 32 of 113



Portables / ICE

Premium Ice
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

Explorer Ice Bag & Transducer Pole 2069.95  2546.04

Comes With:
000-15954-001 - Premium Explorer Bag and Shuttle Frame

- Custom wiring harness and master power switch
- Premium Ice Transducer Pole for ActiveTarget™ Down/Forward or Scout

Explorer Ice Bag 1379.95 1697.34

000-15953-001 Comes With:
- Premium Explorer Bag and Shuttle Frame
- Custom wiring harness and master power switch

Explorer Ice Pole 781.95 961.80

000-15955-001 Comes With:

- Premium Ice Transducer Pole for ActiveTarget™ Down/Forward or Scout

Prices effective as of 31 Jan 2025 14950 Page: 33 of 113



Portables / ICE

Portable ACCY.
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-16145-001 Power Harness Cable for Explorer Series Pack with Elite FS 9 206.95 254.55

0.3m (1 ft) Extension pole for Explorer Series Ice Pole (not Included), ideal for thicker ice 137.95 169.68

000-16146-001 areas and more depth

685.40 843.04

000-14088-001 HOOK2-4x Ice Transducer with power lead.
547.40 673.30
000-14089-001 Hook Reveal and Hook2 5"/7"/9"/12" Ice Transducer. 200kHz
547.40 673.30
000-14889-001 Ice transducer with 9 Pin connector. 83/200 Medium/High frequencies.
1780.20  2189.65
000-15112-001 PORTABLE PK 7" & UNDER HOOK2/ELITE TI EMEA
Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
1890.55  2325.38
000-14899-001 PSI-1 Performance Sonar Interface - Enable LiveSight Sonar on your HDS Carbon or NSS /

NSOevo3 display by adding the PSI-1 Performance Sonar Interface to your system.

252.95 311.13
000-14414-001 8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8
pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer

Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

147195  1810.50
000-14963-001 Replacement Ice Mount for LiveSight Transducer

Prices effective as of 31 Jan 2025 14950 Page: 34 of 113



GHOST™

GHOST™
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
14088.96 17329.42
000-14937-001 Ghost® freshwater trolling motor 47", HDI Transducer, Compass
15275.34 18788.67
000-14938-001 Ghost™ freshwater trolling motor 52", HDI Transducer, Compass
16141.73 19854.33
000-15480-001 Ghost™ freshwater trolling motor 60", HDI Transducer, Compass and remote
Accessories
Part Number Description R?EL%CI' R(;:I;(;roz:)l

1953.15  2402.37

000-14900-001 ACTIVE IMAGING 3-IN-1 Trolling Motor Nosecone for GHOST™. Not compatible with

RECON™
000-15301-002 MISC. HARDWARE,MOUNT KIT 86.96 106.96
000-15237-001 GHOST Propeller kit. 234.90 288.93
000-15274-001 GHOST nosecone. No Transducer 234.86 288.87
200.06 246.07
000-15582-001 GHOST Trolling motor compass extension cable, 6 m (20")
217.46 267.47
000-15327-001 Mini 9-pin to 9-pin Sonar adapter cable
The Prop Shaft Anode for the Lowrance Ghost® & RECON trolling motors allows for use in 100.01 123.01
brackish water without voiding the Lowrance Ghost trolling motor warranty. The Prop Shaft
000-15723-001 Anode is a ring-shaped fitting that is installed over the existing propeller nut, on the back of

the propeller. The anode prevents corrosion that could result from using the trolling motor in
brackish water.
NOTE: Using the Ghost Trolling Motor in saltwater WILL void the warranty.

630.71 775.77

000-15325-001 Replacement trolling motor compass (TMC-1)
561.15 690.21
000-15468-001 TMR-1: Remote controll for the Ghost trolling motor.
Spare Parts
e RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

000-15806-001 GHOST 47" -TM SERVICE KIT - NO MOUNT 12571.46 15462.89
000-15240-001 2x Nose cone O-ring, 1x Cable tie/heat shrink kit (not shown in the illustration), 1x Column, 6198.75 7624.46

inner, GHOST 47"/lower unit (pre-assembled)
000-15672-001 1x Column, inner shaft, 52" 239.15 294.16
000-15730-001 Indicator ring decal kit: 1x Indicator ring decal 10.40 12.79

59.75 73.50
000-15319-001 Center cover kit: 1x Center cover, pedal, 1x Screw, no. 6x3/8, Phillips, pan, SS

69.56 85.55
000-15253-001 Lowrance label 1x Head decal

Prices effective as of 31 Jan 2025 14950 Page: 38 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

000-15301-002 MISC. HARDWARE,MOUNT KIT 86.96 106.96

100.01 123.01

000-15250-001 Indicator assembly 1x Indicator w/magnet, 1x Indicator ring

000-15673-001 1x Column, inner shaft, 60" 271.35 333.77
000-15318-001 Switch housing kit: 1x Switch housing, pedal, 2x Screw, no. 6x3/8, Phillips, pan, SS 36.75 45.21
000-15237-001 GHOST Propeller kit. 234.90 288.93
000-15674-001 Zx Nose cone O-rjng, 1x Ca_ble tie/heat shrink kit (not shown in the illustration), 1x Column, 6307.50 7758.23

inner, GHOST 52”/lower unit (pre-assembled)

000-15235-001 360 Head HW kit: 2x Screw, SHCS M8 x 1.25 x 20 11.45 14.09
000-15675-001 2x Nose cone O-ring, 1x Cable tie/heat shrink kit (not shown in the illustration), 1x Column, 6520.65 8020.40

inner, GHOST 60”/lower unit (pre-assembled)

260.96 320.98
000-15252-001 Top housing assembly 1x Housing, upper assembly (including head decal and indicator decal

ring), 14x Screw, torx, no. 6 x 3/4

Momentary switch kit: 1x Momentary switch, pedal, 2x Screw, M3x18mm, hex, button, 304SS, 128.75 158.37
1xScrew, no. 6x3/8, Phillips, pan, SS, 2x Cable tie, anchored, 2x Nylock SS nut M3, 1x

000-15314-001 Momentary button, pedal, 1x Spring, compression, 7mm ID x 15mm x 1m, 1x Momentary pin,

pedal
43.46 53.45
000-15251-001 Housing hardware 14x Screw, torx, no. 6 x 3/4
000-15395-001 Lower unit front cap kit: 1x Front cap, 1x O-ring, 80x3 mm, 4x Screw, M3, 5x10 1x Screw, 300.11 369.13

M5x8, 1x Seal washer, 5x9x1

Bluetooth module kit: 4x Screw 7mm torx T8, 1x Screw, no. 6x3/8, Phillips, pan, SS, 2x Cable 202.35 248.90
000-15315-001 tie, anchored, 1x Bluetooth seal, pedal, 1x Bluetooth cover, pedal, 1x Bluetooth cable
grommet, pedal, 1x PCB TST assembly Bluetooth

000-15238-001 Propeller hardware kit: 1x Thrust washer, 1x Propeller pin 1x M10 Propeller washer 1x M10 41.35 50.87
Nylock nut
65.21 80.20
000-15285-001 Upper dressing cap kit: 1x Upper dressing cap, 1x Lock pin upper extrusion, 1x Screw,

M6x16, hex, flat, SS

87.35 107.45

000-15310-001 GHOST foot pedal Configurable button 1 kit. 1 x Front left button assembly, pedal, 1x Spring,
compression, 7mm ID x 15mm x 1m.

000-15388-001 Ié%\gﬁrr*.g-r]si;irneqavzggﬁekrit 1x Rear cap 2x Shaft seal, greased 1x O-ring, 85x3 mm 1x 443.66 545.70
000-15239-001 1x Column, inner shaft, 47" 206.95 254.55
000-15292-001 Upper extrusion kit with bushing, GHOST 47": 1x Upper extrusion assembly, GHOST 47" 1087.46 1337.57

65.21 80.20
000-15254-001 Case seal 1x Seal, case

213.15 262.17

GPS PCBA 1x PCB Test Assembely: 2x Screw, torx, no. 6 x 3/8, 1x GPS PCBA cable (not

000-15255-001 shown in the illustration)

000-15387-001 Lower unit rotor assembly: 1x Rotor assembly 1304.96 1605.10

Upper extrusion kit, GHOST GHOST 52"/GHOST 60”: 1x Upper extrusion assembly, GHOST 1426.76 1754.91

000-15676-001 GHOST 52"/GHOST 60”

87.35 107.45
000-15312-001 GHOST foot pedal Configurable button 2 kit. 1 x Back left button assembly, pedal, 1x Spring,
compression, 7mm ID x 15mm x 1m.

Prices effective as of 31 Jan 2025 14950 Page: 39 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

91.95 113.10
000-15311-001 GHOST foot pedal anchor button kit (front right button): Kit contains 1 x front right "Anchor"
button assembly, 1x Spring, compression, 7mm ID x 15mm x 1m

52.16 64.15

Cable management clip kit: 2x Cable management clips, 2x M4 x 8 socket screw with patch,
000-15281-001 2x M4 round base weld nut

000-15247-001 Lower unit hardware kit: 1x Seal washer, 5x9x1, 1x Screw, M5x8, 4x Screw, M3, 5x10, 1x 10.83 13.32
Bearing-shim washer, 1x O-ring, 85x3 mm, 1x O-ring, 80x3 mm

000-15246-001 1x Lower housing assy with outer column, GHOST 47", 1x Cable tie/heat shrink kit (not shown 1011.95 1244.70
in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad

PCBA, main head kit: 1x PCB TST ASY head controller CC, 1x Thermal pad, 6x Screw, torx, 765.56  941.63

000-15256-001 no. 6 x 3/8, 1x Screw, M3 x 10, torx

95.66 117.66

000-15298-001 Pushrod pin kit: 1x Pushrod pin 2x Pushrod pin clip
52.16 64.15
000-15257-001 Thermal spreader kit, 1x Spreader, thermal, 1x Thermal pad, 3x Screw, M3 x 10, torx
000-15242-001 Eﬁrzianrr%,tsealed kit: 2x Bearing sealed, 2x Bearing wedge, 1x Seal, shaft, 1x Cable tie/heat 299.00 367.77
000-15241-001 Nose cone O-ring kit: 1x O-ring, 41x2.62mm, 1x O-ring, 15x3.53mm, 2x O-ring, 84x4.10mm 30.41 37.40
. . . 91.95 113.10
000-15313-001 GHOST foot pedal Configurable button 3.1 x Back right button assembly, pedal, 1x Spring,

compression, 7mm ID x 15mm x 1m.

000-15320-001 Driving gear kit: 1x Driving gear, pedal, 2x Screw, no. 6x3/4, torx, pan, SS 41.35 50.87

000-15243-001 Bearing cup: 1x Bearing cup 59.75 73.50

Pushrod kit, GHOST 47" 1x Clevis bracket 4x Screw, M5x8mm, hex, button, SS 1x Pushrod, 956.96 1177.06

000-15289-001 finish machine with bushing, GHOST 47"

000-15668-001 1x Lower housing assy with outer column, GHOST 527, 1x Cable tie/heat shrink kit (not shown 904.76 1112.85
in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad

143.51 176.51
000-15258-001 Gear cover kit: 1x Cover, gear drive, 8x Screw, M3 x 18, hex, 1x Cable tie/heat shrink kit.

43.46 53.45
000-15259-001 12x Screw, M3 x 20, torx

Pushrod kit, GHOST 52"/GHOST 60”: 1x Clevis bracket, 4x Screw, M5x8mm, hex, button, SS, 930.86 1144.95

000-15677-001 1x Pushrod, finish machine with bushing, GHOST 52"/GHOST 60"

000-15322-001 Pedal, upper: 1x Upper, pedal 156.35 192.32

000-15244-001 Lower bearing clamp kit: 2x Collar, lower, 2x Screw, M5x20 mm, hex 110.35 135.74

000-15669-001 1x Lower housing assy with outer column, GHOST 60", 1x Cable tie/heat shrink kit (not shown 922.16 1134.25
in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad

000-15321-001 Pivot pin: 1x Pivot pin, pedal 41.35 50.87

000-15271-001 Upper clamp kit: 1x Collar, plain, upper, 1x Collar threaded, upper, 2x Screw, M4x25 mm, hex, 115.00 141.45

socket, SS316

34.76 42.75
000-15260-001 1x Motor belt

100.01 123.01

000-15293-001 Secondary latch kit: 1x Secondary latch, 1x Spring, secondary latch torsion, 2x Washer, 1/2",
nylon, 1x C-ring, 1/2", 15-7 PH SS, 1x Pull cable spacer

Prices effective as of 31 Jan 2025 14950 Page: 40 of 113



GHOST™

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
30.41 37.40
000-15261-001 1x Indicator belt
Potentiometer kit: 1x Potentiometer, pedal, 1x Lock washer, 3/8", internal tooth, SS, 1x Nut, 183.95 226.26
000-15317-001 3/8-32, SS, 1x Screw, no. 6x3/8, Phillips, pan, SS (not shown in the illustration), 2x Cable tie,

anchored (not shown in the illustration)

000-15272-001 Shaft seal: 1x Seal, shaft 27.55 33.89

000-15291-001 Upper head adapter pin kit: 1x Pin, upper head, 2x E-clip, 1/2", 15-7 PH SS 65.21 80.20

000-15277-001 Nose cone hardware kit_: 1x O-ring, 15x3.53mm, 1x O-ring, 41x2.62mm, 1x Nose cone cap, 1x 105.75 130.08
Bolt, transducer, 2x O-ring, 84x4.10mm

000-15294-001 Lower head adapter pin kit: 1x Pin bracket/bow arm, 1x Set screw, M6 x 8, SS 69.56 85.55
Speed knob kit: 1x Speed knob, pedal: 1x Spring, Compression, speed knob, 1x E-clip 3/4”, 64.35 79.16

000-15316-001 1x D-clip, 1/4” shaft

82.65 101.66

000-15262-001 1x Indicator pulley assembly

152.21 187.21
000-15263-001 1x Idler, gear, pully, assembly

521.96 642.01
000-15290-001 Head adapter kit: 1x Head adapter with bushing
000-15278-001 Rod, stabilizer kit: 1xRod, stabilizer, 1x Nut, 3/4"-10, nylon, 1x Foot, stabilizer, 1x Top cap 183.95 226.26
000-15306-001 Label, battery: 1x Label status panel w/adhesive, pedal 41.35 50.87
000-15309-001 Housing, lower, pedal kit, 47”: 1x Base, pedal, 1x Wiper seal, pedal, 3x Grommet wires pedal, 248.35 305.48

1x Cable tie/heat shrink kit (not shown in the illustration), 1x Misc. hardware, pedal kit

121.76 149.76

000-15264-001 Head sensor assy: 1x Sensor assembly, 2x Screw, M3 x 10, torx

Steering motor kit: 1x Motor assembly, 1x Motor thermal pad, 1x PCBA thermal pad, 1x 1026.56 1262.66

000-15265-001 Screw, M5x20 mm, hex, socket, SS316, 1x Seal, adjusting screw, O-ring, 4x Screw, M3 x 10,
torx, 1x Motor belt

91.95 113.10
Damper kit: 1x Damper, pedal, 1xScrew M4X8 socket cap head S/S 304, 1x Washer M4 flat

000-15307-001 OD 12mm SST, 1x PSA washer damper

000-15297-001 Latch trigger kit, GHOST 47": 2x Latch trigger, GHOST 47" 78.26 96.26
000-15678-001 Latch trigger, GHOST 52"/GHOST 60” 2x Latch trigger, GHOST 52"/GHOST 60” 94.99 116.84
PCBA, battery kit, 1x PCB TST ASY power/battery potted, 1x Cable tie/heat shrink kit, 3x 225.40 277.24

000-15305-001 Screw 7 mm torx T8

22.95 28.23

000-15830-001 ROD,STABILIZER HARDWARE KIT

8.66 10.65
000-15266-001 '(g?ﬂrs]igoning bolt kit: 1x Screw, M5x20 mm, hex, socket, SS316, 1x Seal, adjusting screw,
000-15303-001 Pedal PCBA, potted assembly kit: 1x Potted main controller assembly, pedal, 1xCable 1195.95  1471.02

tie/heat shrink kit, 6x Screw M2.5 x 10 T8 PT THR

Prices effective as of 31 Jan 2025 14950 Page: 41 of 113



GHOST™

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
000-15296-001 Front latch guide kit: 1x Guide, front latch, 1x Spring, extension, front latch 69.56 85.55
000-15267-001 Thermal pad, steering motor: 1x Motor thermal pad 30.41 37.40
000-15576-001 Magnobond Epoxy: 1x Magnobond Epoxy 63-1 50 ml 409.40 503.56
000-15269-001 Steering motor thermocouple kit: 1x Cable assembly thermistor 150 mm, 1x Thermocouple 39.11 48.10

adhesive, 1x PCBA thermal pad

1379.95  1697.34

1x Cable, head to pedal, GHOST 47", 2x Screw, M3 x 10, torx, 1x Seal, strain relief, 1x Cable

000-15249-001 tie/heat shrink kit, 1x PCBA thermal pad

73.91 90.90
000-15295-001 Front latch block: 1x Front latch block

43.46 53.45
000-15581-001 Lift assist crutch: 1x Lift assist crutch

1458.15  1793.53

1x Cable, head to pedal, GHOST 527, 2x Screw, M3 x 10, torx, 1x Seal, strain relief, 1x Cable

000-15670-001 tie/heat shrink kit, 1x PCBA thermai pad

21.71 26.70
000-15268-001 Thermal pad, PCBA: 1x PCBA thermal pad

156.56 192.56
000-15270-001 Slip gear assembly: 1x Gear assembly, 2x Screw, M3 x 20, torx

1701.95  2093.40

1x Cable, head to pedal, GHOST GHOST 52", 2x Screw, M3 x 10, torx, 1x Seal, strain relief,

000-15671-001 1x Cable tie/heat shrink kit, 1x PCBA thermal pad

. 749.02
000-15288-001 Lift assist spring kit, GHOST 47": 1x Gas spring, compression/traction, GHOST 47", 2x 608.96 9.0

Binding barrel, 5/16 x 17, Pan, PH, SS, 2x Screw, 1/4-20 x 5/16”, Pan, PH, SS

Lift assist kit, GHOST 52"/GHOST 60”: 1x Gas spring, compression/traction, GHOST 527/60”, 643.76 791.82

000-15679-001 2x Binding barrel, 5/16 x 1”, Pan, PH, SS, 2x Screw, 1/4-20 x 5/16”, Pan, PH, SS

43.46 53.45
000-15248-001 Lower bezel kit: 1x Bezel, lower, 2x Screw, M3 x 10, torx
000-15304-001 Bottom plate, pedal kit: 1x Bottom plate, pedal, 2x Screw, M5x10 mm, hex, button, SS316, 8x 114.95 141.39

Screw, no. 6x3/4, torx, pan, SS, 4x Rubber foot pedal

000-15323-001 Battery power cable kit: 1x Power cable, 2x Screw, M5 x 10 mm, hex 165.55 203.63
000-15279-001 Stabilizer, rubber foot: 1x Foot, stabilizer 13.01 16.00

56.51 69.50
000-15284-001 Wear bearing kit, GHOST 47": 2x Wear bearing, GHOST 47"

95.66 117.66
000-15680-001 Wear bearing kit, GHOST 52"/GHOST 60”: 2x Wear bearing, GHOST 52"/GHOST 60"

303.55 373.37

000-15308-001 Damper gear assembly kit: 1x Damper gear assembly, 1x Screw, cap, M4x16, 1x Screw, no.

6x3/4, torx, pan, ss

56.51 69.50
000-15286-001 Lower dressing cap kit: 1x Lower dressing cap, 1x Spring, latch extension

000-15324-001 Miscellaneous hardware kit for GHOST Trolling motor foot pedal 91.95 113.10

Prices effective as of 31 Jan 2025 14950 Page: 42 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

000-15273-001 Cable tie/heat shrink kit: 6x Cable tie anchored, 12x Cable tie small, 2x Heat shrink tubing 1.5” 13.75 16.92

173.96 213.97
000-15287-001 Rear latch kit: 1x Mount rear latch 1x Pin, rear latch pivot

Lower extrusion hardware kit: 2x Bolt, rear hinge, 4x Bushing, 1/2”, 2x Washer, M10, 316SS, 108.71 133.71
000-15299-001 2x Jam nut, M10

000-15300-001 Lower extrusion kit, GHOST 47": 1x Lower extrusion, with bushing, GHOST 47" 1174.46 1444.,58

Lower extrusion kit, GHOST 52"/GHOST 60”:1x Lower extrusion, with bushing, , GHOST 1465.91 1803.06

000-15681-001 52”/GHOST 60”

. . 195.71 240.72
Side plate kit, GHOST 47": 1x Cover mount RH, GHOST 47", 1x Cover mount LH, GHOST

000-15283-001 47", 6x Screw, SHCS M4 x 0.7 x14, SS

) ) 295.76 363.78
Side plate kit, GHOST 52"/GHOST 60": 1x Cover mount RH, GHOST 52"/GHOST 60" 1x

000-15682-001 Cover mount LH, GHOST 52"/GHOST 60" 6x Screw, SHCS M4 x 0.7 x14, SS

82.65 101.66

000-15282-001 Kicker kit: 1x Front kicker, 2x Screw, SHCS M6 x 1 x 8
000-15476-001 Upper extrusion bushing kit: 2x Upper sleeve bushing 4x Rear pivot bushing 65.21 80.20
000-15479-001 Pushrod bushing kit: 2x Bushing bronze 5/8 x 1/2 56.51 69.50
000-15478-001 Head adapter bushing kit: 4x Head adaptor bushing, 2x Threaded inserts 104.36 128.36
000-15477-001 Lower extrusion bushing kit 4x 1/2” Shaft bushing 47.81 58.80

52.16 64.15
000-15829-001 GAS SPRING HARDWARE KIT Screw, 1/4-20 x 5/16”, Pan, PH, SS

60.86 74.85
000-15828-001 TIE DOWN STRAP KIT

60.86 74.85
000-15831-001 GAS SPRING CLEVIS BRACKET KIT

Prices effective as of 31 Jan 2025 14950 Page: 43 of 113



GHOST™

Accessories
Main Products

Part Number Description RTIEL%X)CL R(g?l;"(;%l

1953.15  2402.37

000-14900-001 QE-CI;I\OIII\:_]TWAGING 3-IN-1 Trolling Motor Nosecone for GHOST™. Not compatible with

695.96 856.03
HDI Nose cone transducer for GHOST™: Traditional 200 kHz High Chirp, 83 kHz Medium
000-15275-001 Chirp
and DownScan 455 kHz, 800 kHz. Not compatible with RECON™

000-15301-002 MISC. HARDWARE,MOUNT KIT 86.96 106.96
000-15237-001 GHOST Propeller kit. 234.90 288.93
000-15274-001 GHOST nosecone. No Transducer 234.86 288.87

200.06 246.07

000-15582-001 GHOST Trolling motor compass extension cable, 6 m (20")
217.46 267.47
000-15327-001 Mini 9-pin to 9-pin Sonar adapter cable
630.71 775.77
000-15325-001 Replacement trolling motor compass (TMC-1)
561.15 690.21
000-15468-001 TMR-1: Remote controll for the Ghost trolling motor.
Accessories
Part Number Description R?EL%X)C" 35;6[,}3'
200.06 246.07
000-15582-001 GHOST Trolling motor compass extension cable, 6 m (20")

Prices effective as of 31 Jan 2025 14950 Page: 44 of 113



GHOST™

Mount parts
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
000-15631-001 GHOST 47" MOUNT ASSEMBLY KIT 3479.96  4280.35
152.21 187.21
000-15280-002 PULL CABLE KIT V2: Kit includes: 1x Braided stainless pull cable, 1x Handle bottom, 1x
Handle top, 1x rectangular washer, 1x Pull cable barrel, 2x Hex bolts, M4.0 x 0.7 x 6.
000-15809-001 GHOST 52/60" MOUNT ASSEMBLY KIT 3697.46  4547.87
78.26 96.26
000-15914-001 GHOST MOUNT HARDWARE KIT
65.21 80.20
~ ~ Upper dressing cap kit: 1x Upper dressing cap, 1x Lock pin upper extrusion, 1x Screw,
000-15285-001 M6x16, hex, flat, SS
000-15292-001 Upper extrusion kit with bushing, GHOST 47": 1x Upper extrusion assembly, GHOST 47" 1087.46 1337.57
000-15676-001 Upper extrusion kit, GHOST GHOST 52"/GHOST 60”: 1x Upper extrusion assembly, GHOST 1426.76 1754.91
GHOST 52"/GHOST 60"
52.16 64.15
_ N Cable management clip kit: 2x Cable management clips, 2x M4 x 8 socket screw with patch,
000-15281-001 2x M4 round base weld nut
95.66 117.66
000-15298-001 Pushrod pin kit: 1x Pushrod pin 2x Pushrod pin clip
000-15289-001 Pushrod kit, GHOST 47" 1x Clevis bracket 4x Screw, M5x8mm, hex, button, SS 1x Pushrod, 956.96  1177.06
finish machine with bushing, GHOST 47"
000-15677-001 Pushrod kit, GHOST 52”/GHOST 60”: 1x Clevis bracket, 4x Screw, M5x8mm, hex, button, SS, 930.86 1144.95
1x Pushrod, finish machine with bushing, GHOST 52"/GHOST 60"
100.01 123.01
000-15293-001 Secondary latch kit: 1x Secondary latch, 1x Spring, secondary latch torsion, 2x Washer, 1/2",
nylon, 1x C-ring, 1/2", 15-7 PH SS, 1x Pull cable spacer
000-15291-001 Upper head adapter pin kit: 1x Pin, upper head, 2x E-clip, 1/2", 15-7 PH SS 65.21 80.20
000-15294-001 Lower head adapter pin kit: 1x Pin bracket/bow arm, 1x Set screw, M6 x 8, SS 69.56 85.55
521.96 642.01
000-15290-001 Head adapter kit: 1x Head adapter with bushing
000-15297-001 Latch trigger kit, GHOST 47": 2x Latch trigger, GHOST 47" 78.26 96.26
000-15678-001 Latch trigger, GHOST 52"/GHOST 60” 2x Latch trigger, GHOST 52"/GHOST 60” 94.99 116.84
000-15296-001 Front latch guide kit: 1x Guide, front latch, 1x Spring, extension, front latch 69.56 85.55
73.91 90.90
000-15295-001 Front latch block: 1x Front latch block
43.46 53.45
000-15581-001 Lift assist crutch: 1x Lift assist crutch
. 749.02
000-15288-001 Lift assist spring kit, GHOST 47": 1x Gas spring, compression/traction, GHOST 47", 2x 608.96 9.0
Binding barrel, 5/16 x 17, Pan, PH, SS, 2x Screw, 1/4-20 x 5/16”, Pan, PH, SS
643.76 791.82

000-15679-001

Lift assist kit, GHOST 52"/GHOST 60”: 1x Gas spring, compression/traction, GHOST 527/60”,
2x Binding barrel, 5/16 x 1”, Pan, PH, SS, 2x Screw, 1/4-20 x 5/16”, Pan, PH, SS

Prices effective as of 31 Jan 2025

14950

Page: 45 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

56.51 69.50
000-15284-001 Wear bearing kit, GHOST 47": 2x Wear bearing, GHOST 47"

95.66 117.66

000-15680-001 Wear bearing kit, GHOST 52"/GHOST 60”: 2x Wear bearing, GHOST 52"/GHOST 60"
56.51 69.50
000-15286-001 Lower dressing cap kit: 1x Lower dressing cap, 1x Spring, latch extension
173.96 213.97
000-15287-001 Rear latch kit: 1x Mount rear latch 1x Pin, rear latch pivot

Lower extrusion hardware kit: 2x Bolt, rear hinge, 4x Bushing, 1/2”, 2x Washer, M10, 316SS, 108.71 133.71

000-15299-001 2x Jam nut, M10

000-15300-001 Lower extrusion kit, GHOST 47": 1x Lower extrusion, with bushing, GHOST 47" 1174.46 1444.58

Lower extrusion kit, GHOST 52"/GHOST 60”:1x Lower extrusion, with bushing, , GHOST 1465.91 1803.06

000-15681-001 52"/GHOST 60"

. . 195.71 240.72
Side plate kit, GHOST 47": 1x Cover mount RH, GHOST 47", 1x Cover mount LH, GHOST

000-15283-001 47", 6x Screw, SHCS M4 x 0.7 x14, SS

. . 295.76 363.78
Side plate kit, GHOST 52"/GHOST 60”: 1x Cover mount RH, GHOST 52"/GHOST 60" 1x

000-15682-001 Cover mount LH, GHOST 52"/GHOST 60" 6x Screw, SHCS M4 x 0.7 x14, SS

82.65 101.66

000-15282-001 Kicker kit: 1x Front kicker, 2x Screw, SHCS M6 x 1 x 8
000-15476-001 Upper extrusion bushing kit: 2x Upper sleeve bushing 4x Rear pivot bushing 65.21 80.20
000-15479-001 Pushrod bushing kit: 2x Bushing bronze 5/8 x 1/2 56.51 69.50
000-15478-001 Head adapter bushing kit: 4x Head adaptor bushing, 2x Threaded inserts 104.36 128.36
000-15477-001 Lower extrusion bushing kit 4x 1/2” Shaft bushing 47.81 58.80

52.16 64.15
000-15829-001 GAS SPRING HARDWARE KIT Screw, 1/4-20 x 5/16”, Pan, PH, SS

60.86 74.85
000-15828-001 TIE DOWN STRAP KIT

60.86 74.85
000-15831-001 GAS SPRING CLEVIS BRACKET KIT

Spare Parts

Part Number Description R?SL?‘X)C" R(ggc;';'/sl

52.16 64.15
000-15829-001 GAS SPRING HARDWARE KIT Screw, 1/4-20 x 5/16”, Pan, PH, SS

Prices effective as of 31 Jan 2025 14950 Page: 46 of 113



GHOST™

Head parts
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
000-15730-001 Indicator ring decal kit: 1x Indicator ring decal 10.40 12.79
000-15810-001 GHOST 52" -TM SERVICE KIT - NO MOUNT 12614.96 15516.40
000-15811-001 GHOST 60" -TM SERVICE KIT - NO MOUNT 12875.96 15837.43
000-15806-001 GHOST 47" -TM SERVICE KIT - NO MOUNT 12571.46 15462.89
69.56 85.55
000-15253-001 Lowrance label 1x Head decal
100.01 123.01
000-15250-001 Indicator assembly 1x Indicator w/magnet, 1x Indicator ring
260.96 320.98
000-15252-001 Top housing assembly 1x Housing, upper assembly (including head decal and indicator decal
ring), 14x Screw, torx, no. 6 x 3/4
43.46 53.45
000-15251-001 Housing hardware 14x Screw, torx, no. 6 x 3/4
65.21 80.20
000-15254-001 Case seal 1x Seal, case
213.15 262.17
GPS PCBA 1x PCB Test Assembely: 2x Screw, torx, no. 6 x 3/8, 1x GPS PCBA cable (not
000-15255-001 shown in the illustration)
000.15256.001 PCBA, main head kit: 1x PCB TST ASY head controller CC, 1x Thermal pad, 6x Screw, torx, 76556 941.63
no. 6 x 3/8, 1x Screw, M3 x 10, torx
52.16 64.15
000-15257-001 Thermal spreader kit, 1x Spreader, thermal, 1x Thermal pad, 3x Screw, M3 x 10, torx
143.51 176.51
000-15258-001 Gear cover kit: 1x Cover, gear drive, 8x Screw, M3 x 18, hex, 1x Cable tie/heat shrink kit.
43.46 53.45
000-15259-001 12x Screw, M3 x 20, torx
34.76 42.75
000-15260-001 1x Motor belt
30.41 37.40
000-15261-001 1x Indicator belt
82.65 101.66
000-15262-001 1x Indicator pulley assembly
152.21 187.21
000-15263-001 1x Idler, gear, pully, assembly
121.76 149.76

000-15264-001

Head sensor assy: 1x Sensor assembly, 2x Screw, M3 x 10, torx

Prices effective as of 31 Jan 2025

14950

Page: 47 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

Steering motor kit: 1x Motor assembly, 1x Motor thermal pad, 1x PCBA thermal pad, 1x 1026.56 1262.66

000-15265-001 Screw, M5x20 mm, hex, socket, SS316, 1x Seal, adjusting screw, O-ring, 4x Screw, M3 x 10,
torx, 1x Motor belt

8.66 10.65
000-15266-001 'g?ﬁﬁg)ning bolt kit: 1x Screw, M5x20 mm, hex, socket, SS316, 1x Seal, adjusting screw,
000-15267-001 Thermal pad, steering motor: 1x Motor thermal pad 30.41 37.40
000-15269-001 Steering motor thermocouple kit: 1x Cable assembly thermistor 150 mm, 1x Thermocouple 39.11 48.10
adhesive, 1x PCBA thermal pad
21.71 26.70
000-15268-001 Thermal pad, PCBA: 1x PCBA thermal pad
156.56 192.56
000-15270-001 Slip gear assembly: 1x Gear assembly, 2x Screw, M3 x 20, torx
43.46 53.45
000-15248-001 Lower bezel kit: 1x Bezel, lower, 2x Screw, M3 x 10, torx
000-15279-001 Stabilizer, rubber foot: 1x Foot, stabilizer 13.01 16.00

Prices effective as of 31 Jan 2025 14950 Page: 48 of 113



GHOST™

Lower unit parts
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-15240-001 2x Nose cone O-ring, 1x Cable tie/heat shrink kit (not shown in the illustration), 1x Column, 6198.75  7624.46
inner, GHOST 47"/lower unit (pre-assembled)

000-15674-001 2x Nose cone O-ring, 1x Cable tie/heat shrink kit (not shown in the illustration), 1x Column, 6307.50 7758.23
inner, GHOST 52”/lower unit (pre-assembled)

000-15675-001 2x Nose cone O-ring, 1x Cable tie/heat shrink kit (not shown in the illustration), 1x Column, 6520.65 8020.40
inner, GHOST 60"/lower unit (pre-assembled)

000-15395-001 Lower unit front cap kit: 1x Front cap, 1x O-ring, 80x3 mm, 4x Screw, M3, 5x10 1x Screw, 300.11 369.13
M5x8, 1x Seal washer, 5x9x1

~ ~ Lower unit rear cap kit: 1x Rear cap 2x Shaft seal, greased 1x O-ring, 85x3 mm 1x 443.66 545.70

000-15388-001 Bearing-shim washer
The Prop Shaft Anode for the Lowrance Ghost® & RECON trolling motors allows for use in 100.01 123.01
brackish water without voiding the Lowrance Ghost trolling motor warranty. The Prop Shaft

000-15723-001 Anode is a ring-shaped fitting that is installed over the existing propeller nut, on the back of
the propeller. The anode prevents corrosion that could result from using the trolling motor in
brackish water.
NOTE: Using the Ghost Trolling Motor in saltwater WILL void the warranty.

000-15387-001 Lower unit rotor assembly: 1x Rotor assembly 1304.96 1605.10

000-15247-001 Lower unit hardware kit: 1x Seal washer, 5x9x1, 1x Screw, M5x8, 4x Screw, M3, 5x10, 1x 10.83 13.32
Bearing-shim washer, 1x O-ring, 85x3 mm, 1x O-ring, 80x3 mm

000-15241-001 Nose cone O-ring kit: 1x O-ring, 41x2.62mm, 1x O-ring, 15x3.53mm, 2x O-ring, 84x4.10mm 30.41 37.40

000-15668-001 1x Lower housing assy with outer column, GHOST 527, 1x Cable tie/heat shrink kit (not shown 904.76 1112.85
in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad
1x Lower housing assy with outer column, GHOST 60", 1x Cable tie/heat shrink kit (not shown 92216  1134.25

000-15669-001

in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad

Prices effective as of 31 Jan 2025

14950

Page: 49 of 113



GHOST™

Pedal parts
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
59.75 73.50
000-15319-001 Center cover kit: 1x Center cover, pedal, 1x Screw, no. 6x3/8, Phillips, pan, SS
000-15318-001 Switch housing kit: 1x Switch housing, pedal, 2x Screw, no. 6x3/8, Phillips, pan, SS 36.75 45.21
Momentary switch kit: 1x Momentary switch, pedal, 2x Screw, M3x18mm, hex, button, 304SS, 128.75 158.37
000-15314-001 1xScrew, no. 6x3/8, Phillips, pan, SS, 2x Cable tie, anchored, 2x Nylock SS nut M3, 1x
Momentary button, pedal, 1x Spring, compression, 7mm ID x 15mm x 1m, 1x Momentary pin,
pedal
Bluetooth module kit: 4x Screw 7mm torx T8, 1x Screw, no. 6x3/8, Phillips, pan, SS, 2x Cable 202.35 248.90
000-15315-001 tie, anchored, 1x Bluetooth seal, pedal, 1x Bluetooth cover, pedal, 1x Bluetooth cable
grommet, pedal, 1x PCB TST assembly Bluetooth
87.35 107.45
000-15310-001 GHOST foot pedal Configurable button 1 kit. 1 x Front left button assembly, pedal, 1x Spring,
compression, 7mm ID x 15mm x 1m.
87.35 107.45
000-15312-001 GHOST foot pedal Configurable button 2 kit. 1 x Back left button assembly, pedal, 1x Spring,
compression, 7mm ID x 15mm x 1m.
91.95 113.10
000-15311-001 GHOST foot pedal anchor button kit (front right button): Kit contains 1 x front right "Anchor"
button assembly, 1x Spring, compression, 7mm ID x 15mm x 1m
) . . 91.95 113.10
000-15313-001 GHOST foot pedal Configurable button 3.1 x Back right button assembly, pedal, 1x Spring,
compression, 7mm ID x 15mm x 1m.
000-15320-001 Driving gear kit: 1x Driving gear, pedal, 2x Screw, no. 6x3/4, torx, pan, SS 41.35 50.87
000-15322-001 Pedal, upper: 1x Upper, pedal 156.35 192.32
000-15321-001 Pivot pin: 1x Pivot pin, pedal 41.35 50.87
Potentiometer kit: 1x Potentiometer, pedal, 1x Lock washer, 3/8", internal tooth, SS, 1x Nut, 183.95 226.26
000-15317-001 3/8-32, SS, 1x Screw, no. 6x3/8, Phillips, pan, SS (not shown in the illustration), 2x Cable tie,
anchored (not shown in the illustration)
~ . Speed knob kit: 1x Speed knob, pedal: 1x Spring, Compression, speed knob, 1x E-clip 3/4”, 64.35 79.16
000-15316-001 1x D-clip, 1/4” shaft
000-15306-001 Label, battery: 1x Label status panel w/adhesive, pedal 41.35 50.87
000-15309-001 Housing, lower, pedal kit, 47”: 1x Base, pedal, 1x Wiper seal, pedal, 3x Grommet wires pedal, 248.35 305.48
1x Cable tie/heat shrink kit (not shown in the illustration), 1x Misc. hardware, pedal kit
91.95 113.10
000-15307-001 Damper kit: 1x Damper, pedal, 1xScrew M4X8 socket cap head S/S 304, 1x Washer M4 flat
OD 12mm SST, 1x PSA washer damper
000-15305-001 PCBA, battery kit, 1x PCB TST ASY power/battery potted, 1x Cable tie/heat shrink kit, 3x 225.40 277.24
Screw 7 mm torx T8
. ) 1195.95  1471.02
000-15303-001 Pedal PCBA, potted assembly kit: 1x Potted main controller assembly, pedal, 1xCable
tie/heat shrink kit, 6x Screw M2.5 x 10 T8 PT THR
1379.95  1697.34
000-15249-001 1x Cable, head to pedal, GHOST 47", 2x Screw, M3 x 10, torx, 1x Seal, strain relief, 1x Cable
tie/heat shrink kit, 1x PCBA thermal pad
1458.15  1793.53

000-15670-001

1x Cable, head to pedal, GHOST 52", 2x Screw, M3 x 10, torx, 1x Seal, strain relief, 1x Cable
tie/heat shrink kit, 1x PCBA thermal pad

Prices effective as of 31 Jan 2025

14950

Page: 50 of 113



GHOST™

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

1701.95  2093.40

000-15671-001 1x Cable, head to pedal, GHOST GHOST 52", 2x Screw, M3 x 10, torx, 1x Seal, strain relief,
1x Cable tie/heat shrink kit, 1x PCBA thermal pad

Bottom plate, pedal kit: 1x Bottom plate, pedal, 2x Screw, M5x10 mm, hex, button, SS316, 8x 114.95 141.39

000-15304-001 Screw, no. 6x3/4, torx, pan, SS, 4x Rubber foot pedal

000-15323-001 Battery power cable kit: 1x Power cable, 2x Screw, M5 x 10 mm, hex 165.55 203.63

303.55 373.37
Damper gear assembly kit: 1x Damper gear assembly, 1x Screw, cap, M4x16, 1x Screw, no.

000-15308-001 6x3/4, torx, pan, ss

91.95 113.10
000-15324-001 Miscellaneous hardware kit for GHOST Trolling motor foot pedal

000-15273-001 Cable tie/heat shrink kit: 6x Cable tie anchored, 12x Cable tie small, 2x Heat shrink tubing 1.5” 13.75 16.92

Prices effective as of 31 Jan 2025 14950 Page: 51 of 113



GHOST™

Shaft parts
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
000-15672-001 1x Column, inner shaft, 52" 239.15 294.16
000-15673-001 1x Column, inner shaft, 60" 271.35 333.77
000-15235-001 360 Head HW kit: 2x Screw, SHCS M8 x 1.25 x 20 11.45 14.09
000-15238-001 Zrycl)ggll(liru?ardware kit: 1x Thrust washer, 1x Propeller pin 1x M10 Propeller washer 1x M10 41.35 50.87
000-15239-001 1x Column, inner shaft, 47" 206.95 254.55
000-15245-001 OUTER SHAFT 147.15 181.00
000-15246-001 1x Lower housing assy with outer column, GHOST 47", 1x Cable tie/heat shrink kit (not shown 1011.95  1244.70
in the illustration), 2x Screw, M3 x 10, torx, 1x PCBA thermal pad
000-15242-001 Eﬁreizr:r%tsealed kit: 2x Bearing sealed, 2x Bearing wedge, 1x Seal, shaft, 1x Cable tie/heat 299.00 367.77
000-15243-001 Bearing cup: 1x Bearing cup 59.75 73.50
000-15244-001 Lower bearing clamp kit: 2x Collar, lower, 2x Screw, M5x20 mm, hex 110.35 135.74
000-15271-001 gggkeertlesag?ﬁ Iéit: 1x Collar, plain, upper, 1x Collar threaded, upper, 2x Screw, M4x25 mm, hex, 115.00 141.45
000-15272-001 Shaft seal: 1x Seal, shaft 27.55 33.89
000-15277-001 Nose cone hardware kit: 1x O-ring, 15x3.53mm, 1x O-ring, 41x2.62mm, 1x Nose cone cap, 1x 105.75 130.08
Bolt, transducer, 2x O-ring, 84x4.10mm
000-15278-001 Rod, stabilizer kit: 1xRod, stabilizer, 1x Nut, 3/4"-10, nylon, 1x Foot, stabilizer, 1x Top cap 183.95 226.26
000-15807-001 COLLAR CLAMP KIT V.1.1 165.55 203.63
000-15808-001 360 HEAD ASSEMBLY V.1.1 1057.95  1301.28
22.95 28.23
000-15830-001 ROD,STABILIZER HARDWARE KIT
000-15576-001 Magnobond Epoxy: 1x Magnobond Epoxy 63-1 50 ml 409.40 503.56

Prices effective as of 31 Jan 2025

14950

Page: 52 of 113



GHOST™

Tools
Main Products

Part Number Description RTI':L%X)CL R(g?l;"(;%l

000-15577-001 TROLLING MOTOR SERVICE FIXTURE 312340  3841.78

317.35 390.35

000-15579-001 M32 Hollow tap for composite shaft replacement.
000-15578-001 5/8”-18 Slide hammer adapter 59.75 73.50
000-15580-001 10Ib. weight for shaft bearing pre-load 225.40 277.24

Prices effective as of 31 Jan 2025 14950 Page: 53 of 113



Sonar

ActiveTarget™
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

8121.95  9990.00

000-15959-001 ActiveTarget™2 kit Includes Module, Transducer with 7.62 m (25 ft) cable, and Mounts
434565  5345.15
000-15961-001 ActiveTarget™2 Module Only - Replacement part
5650.65  6950.30
000-15962-001 ActiveTarget™2 Transducer only with 7.62 m (25 ft) cable
345.00 424 .35
000-16054-001 ActiveTarget™2 Trolling Motor Shaft Mount
483.00 594.09
000-15960-001 The ActiveTarget® 2 Scout™ wide bracket
000-16069-001 Extension Cable for Active Target 459.95 565.74
229.95 282.84
000-15773-001 ActiveTarget Transom Mount Kit (Not included in the ActiveTarget Kit)
271.40 333.82
000-15770-001 ActiveTarget trolling motor shaft mounting kit
243.75 299.82
000-15771-001 ActiveTarget trolling motor mounting kit. Forward / down view
243.75 299.82
000-15772-001 Replacement - ActiveTarget Trolling Motor Scout Mount Kit
Accessories
Part Number Description R?EL%CI' 35;6[,}3'
483.00 594.09
000-15960-001 The ActiveTarget® 2 Scout™ wide bracket
000-16069-001 Extension Cable for Active Target 459.95 565.74
229.95 282.84
000-15773-001 ActiveTarget Transom Mount Kit (Not included in the ActiveTarget Kit)
Spare Parts
Part Number Description R?EL?)CI' 35;6[,}3'
434565  5345.15
000-15961-001 ActiveTarget™2 Module Only - Replacement part
5650.65  6950.30
000-15962-001 ActiveTarget™2 Transducer only with 7.62 m (25 ft) cable

Prices effective as of 31 Jan 2025 14950 Page: 54 of 113



Sonar

Part Number Description R?:L?‘IX)CL R(i,f(;%l

345.00 424.35

000-16054-001 ActiveTarget™2 Trolling Motor Shaft Mount

257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)

271.40 333.82
000-15770-001 ActiveTarget trolling motor shaft mounting kit

243.75 299.82
000-15771-001 ActiveTarget trolling motor mounting kit. Forward / down view

243.75 299.82
000-15772-001 Replacement - ActiveTarget Trolling Motor Scout Mount Kit

184.00 226.32
000-00128-001 4-pin Power Cable for modules and MFDs.

Prices effective as of 31 Jan 2025 14950 Page: 55 of 113



Sonar

Active Imaging™
Main Products

Part Number

000-14489-001

_— RRP excl. RRP incl.
Description (PLN) (23.0%)

Activelmaging™ 3-IN-1 combines the new Active Imaging sonar with traditional Medium/High 166515 2048.14

CHIRP sonar for easy single transducer installation. 7.6m (25ft) cable with 9 pin connector.

000-14814-001

1665.15  2048.14
Activelmaging™ 3-IN-1 combines the new Active Imaging sonar with traditional Medium/High

CHIRP sonar for easy single transducer installation. 1.8m (6ft) cable with 9 pin connector.

000-14490-001

Activelmaging™ 2-IN-1 Transducer - Provides Active Imaging technology for SideScan and 141215 1736.95
DownScan while leaving you free to select other transducer options for for Traditional/Chirp
Sonar. 7.6m (25 ft) cable with 9 pin connector.

000-15813-001

1665.15  2048.14
Activelmaging 2-IN-1 Transducer with 83/200 in-hull puck (Depth only) and 9 Pin Y cable.

000-15812-001

1665.15  2048.14

Activelmaging™ 2-in-1 Transducer with 83/200 Skimmer Transducer and Y-Cable

000-16062-001

Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin
connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

000-16060-001

229540  2823.34

Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the
highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

000-16061-001

252540  3106.24

Activelmaging™ HD 3-in-1 (High/Wide)- SideScan Fish Reveal. Delivers the
highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

000-16063-001

Activelmaging™ HD 2-in-1 Transducer. Provides Activelmaging HD technology for SideScan 1697.40  2087.80
and DownScan while leaving you free to select other transducer options for Traditional/Chirp
Sonar. 7.6m (25 ft) cable with 9-pin connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.

000-16095-001

285.20 350.80
Stainless Steel Skimmer Flush Mount Bracket for Active Imaging HD Transducers

000-16094-001

Stainless Steel Transom Mount Bracket for Active Imaging HD Transducers 321.95 396.00

Accessories

Part Number

000-16095-001

Description Rl?ll:&x)cl. R(gg’ (;n:/::)l

285.20 350.80
Stainless Steel Skimmer Flush Mount Bracket for Active Imaging HD Transducers

000-16094-001

Stainless Steel Transom Mount Bracket for Active Imaging HD Transducers 321.95 396.00

000-12602-001

303.55 373.37

Flat Mount Bracket for Active Imaging, TotalScan and StructureScan 3D skimmer transducers.

000-00099-006

400.15 492.19
Extension cable for 9-pin transducers. *For optimum performance do not use more than 1
extension per installation.

Prices effective as of 31 Jan 2025

14950 Page: 56 of 113



Sonar

Spare Parts

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-16094-001 Stainless Steel Transom Mount Bracket for Active Imaging HD Transducers 321.95 396.00

303.55 373.37

Replacement Metal Bracket for Active Imaging, TotalScan, StructureScan 3D and HD

000-12603-001 skimmer transducers.

Prices effective as of 31 Jan 2025 14950 Page: 57 of 113



Sonar

LiveSight™
Main Products

Part Number Description RTEL%X)C" R(g?l;"(;%l

1890.55  2325.38

PSI-1 Performance Sonar Interface - Enable LiveSight Sonar on your HDS Carbon or NSS /

000-14899-001 NSOevo3 display by adding the PSI-1 Performance Sonar Interface to your system.

Accessories

Part Number Description R?SL?)CI' R(g?f’(;'.,‘/f)'

1890.55  2325.38

PSI-1 Performance Sonar Interface - Enable LiveSight Sonar on your HDS Carbon or NSS /

000-14899-001 NSOevo3 display by adding the PSI-1 Performance Sonar Interface to your system.

Spare Parts
vt RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
367.95 452.58
000-14959-001 Replacement Mounts for LiveSight Transducer.

Prices effective as of 31 Jan 2025 14950 Page: 58 of 113



Sonar

StructureScan
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
. 4968.00 6110.64
000-12395-001 StructureScan® 3D Module and Transom mount Transducer Kkit.
StructureScan 3D Transducer ONLY WITH METAL BRACKET- The StructureScan 3D 2065.40  2540.44
000-16363-001 transducer produces three-dimensional scans of underwater terrain and fish-holding

StuctureScan to create a high-resolution view. Cable length 6.0 m (20 ft)

2980.80  3666.38
000-12397-001 StructureScan® 3D module only. Transom mount and Through-Hull transducers available

separately.

2024.00  2489.52
StructureScan 3D Transducer Only - The StructureScan 3D transducer produces
000-12396-001 three-dimensional scans of underwater terrain and fish-holding structure to create a
high-resolution view. Cable length 6.0 m (20 ft)

000-14254-001 StructureScan 3D Through-Hull Transducer with Low and High CHIRP in one transducer. 7.6 7093.20  8724.64

m (25ft) cable. Requires StructureScan® 3D Module sold separately.

StructureScan® 3D Through-Hull Transducer with Medium and High CHIRP in one 709320  8724.64

000-14255-001 transducer. 6m (20ft) cable. Requires StructureScan® 3D Module sold separately.

7093.20  8724.64

000-13559-001 StructureScan 3D Single Stainless Steel Thru-Hull Transducer. Cable length 7.6 m (25 ft)
12162.40 14959.75
000-13560-001 StructureScan 3D Dual Stainless Steel Thru-Hull Transducers. Cable length 7.6 m (25 ft)
547.40 673.30
000-12752-001 Transducer Extension Cables for StructureScan® 3D - 10ft (3m)

1665.20  2048.20

000-12568-001 TotalScan™ Transducer with Medium/High Chirp and 455/800kHz Down and SideScan. 7m

(24ft) Cable.
000-14259-001 TotalScan™ Through-Hull Transducer with Low/High Chirp and 455/800kHz Down and 3542.00  4356.66
SideScan.
TotalScan™ Through-Hull Transducer with Medium/High Chirp and 455/800kHz Down and 3542.00  4356.66
000-14257-001 °
SideScan.
298.95 367.71
000-13522-001 TotalScan and StructureScan 3D Plastic Replacement Bracket
142595  1753.92
000-10802-001 StructureScan™ HD Skimmer Transom Mount Transducer
4457.40  5482.60
000-11459-001 (Sztgi?tl)ess steel StructureScan™ HD Sonar thru-hull transducer. (Single). Cable length 7.6 m
000-11460-001 Stainless steel StructureScan™ HD Sonar thru-hull transducer with Y-cable. (pair). Cable 873540 10744.54

length 7.6 m (25 ft)

303.55 373.37

Replacement Metal Bracket for Active Imaging, TotalScan, StructureScan 3D and HD
000-12603-001 skimmer transducers.

303.55 373.37
000-12602-001 Flat Mount Bracket for Active Imaging, TotalScan and StructureScan 3D skimmer transducers.

Prices effective as of 31 Jan 2025 14950 Page: 59 of 113



Sonar
Part Number Description R'?:Lﬁ()c" 3?;6',}5'
Extension cable for 9-pin transd For opti rf do not than 1 40015 49219
~ ¥ xtension cable for 9-pin transducers. *For optimum performance do not use more than
000-00099-006 extension per installation.
Accessories
Part Number Description RTEL%X)C" R(gg(;f,}sl
SonarHub Module, with power cable and Ethernet cable 4.5m (15ft). Requires adapter 2980.80 3666.38
000-11142-001 000-12571-001 or 000-13977-001 adapter cable to use Airmar Non-Chirp or Chirp 9-pin
transducers.
354.15 435.61
000-0106-72 HST - WSBL 83/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector . Cable
Length 6 m (20 ft)
2024.00  2489.52
StructureScan 3D Transducer Only - The StructureScan 3D transducer produces
000-12396-001 three-dimensional scans of underwater terrain and fish-holding structure to create a
high-resolution view. Cable length 6.0 m (20 ft)
. . 712.95 876.93
000-0106-77 HST-DFSBL 50/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector. Cable
Length 6 m (20 ft)
000-14254-001 StructureScan 3D Through-Hull Transducer with Low and High CHIRP in one transducer. 7.6 7093.20  8724.64
m (25ft) cable. Requires StructureScan® 3D Module sold separately.
000-14255-001 StructureScan® 3D Through-Hull Transducer with Medium and High CHIRP in one 7093.20  8724.64
transducer. 6m (20ft) cable. Requires StructureScan® 3D Module sold separately.
174.80 215.00
000-0127-51 Ethernet Cable -Yellow 5-Pin Male-Male - 1.8 m (6 ft)
418.55 514.82
PD-WBL 83/200 kHz shoot-thru or trolling-motor mount transducer. Depth only. Cable Length
000-0106-73 6m (20ft)
455.35 560.09
000-0106-74 PDT-WBL 83/200 kHz Pod-Style / Trolling-Motor mount with built-in tempsensor and 7-pin
blue connector. 6m (20ft) cable.
257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)
7093.20 8724.64
000-13559-001 StructureScan 3D Single Stainless Steel Thru-Hull Transducer. Cable length 7.6 m (25 ft)
12162.40 14959.75
000-13560-001 StructureScan 3D Dual Stainless Steel Thru-Hull Transducers. Cable length 7.6 m (25 ft)
363.40 446.98
000-0127-30 Ethernet Cable -Yellow 5-Pin Male-Male - 7.6 m (25 ft)
575.00 707.25
000-0106-89 PDRT-WBL 83/200 kHz shoot-thru or trolling-motor mount Skimmer® with remote temp
sensor with blue connector. Cable Length 6 m (20 ft)
501.40 616.72
000-0127-37 Ethernet Cable -Yellow 5-Pin Male-Male - 15.2 m (50 ft)

Prices effective as of 31 Jan 2025

14950

Page: 60 of 113



Sonar

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
455.35 560.09
000-0106-94 PTI-WBL - Ice transducer with 7-pin blue connector. 7ft Cable.
547.40 673.30
000-12752-001 Transducer Extension Cables for StructureScan® 3D - 10ft (3m)
000-10046-001 7pin adapter cable to bare wires. To connect a bare-wire transducer to a display with 7pin 133.40 164.08
sonar port.
500.94 616.16
000-11040-001 Adapts LSS-1 transducers to HDS Gen2 Touch units and to LSS-HD modules.

666.95 820.35
HDI Skimmer® transducer 83/200/455/800kHz with built in temp. Includes mounting bracket

000-10976-001 and hardware. Cable Length 6m (20 ft)

225.35 277.19

000-0099-93 XT-12BL 12ft blue 7 pin transducer extension Cable: 3.65 m (12 ft)

225.35 277.19
000-0099-94 XT-20BL 20ft blue 7 pin transducer extension cable: 6 m (20 ft)

298.95 367.71
000-13522-001 TotalScan and StructureScan 3D Plastic Replacement Bracket

131095  1612.47
HDI Skimmer® transducer 50/200/455/800kHz with built in temp. Includes mounting bracket

000-10977-001 and hardware. Cable Length 6 m (20 ft)

142595  1753.92

000-10802-001 StructureScan™ HD Skimmer Transom Mount Transducer

445740  5482.60
000-11459-001 (Sztgi?tl)ess steel StructureScan™ HD Sonar thru-hull transducer. (Single). Cable length 7.6 m
000-11460-001 Stainless steel StructureScan™ HD Sonar thru-hull transducer with Y-cable. (pair). Cable 873540  10744.54

length 7.6 m (25 ft)

303.55 373.37

Replacement Metal Bracket for Active Imaging, TotalScan, StructureScan 3D and HD
000-12603-001 skimmer transducers.

303.55 373.37

000-12602-001 Flat Mount Bracket for Active Imaging, TotalScan and StructureScan 3D skimmer transducers.

400.15 492.19
Extension cable for 9-pin transducers. *For optimum performance do not use more than 1
000-00099-006 extension per installation.

501.35 616.67
000-13581-001 Fairing Block only for StructureScan 3D Through-Hull transducers.

303.55 373.37
000-10874-001 LSS-HD Skimmer Mount Transducer Bracket

Prices effective as of 31 Jan 2025 14950 Page: 61 of 113



Sonar
Part Number Description R'?:Lﬁ()c" 3?;6',}5'
119.55 147.05
HDI TROLLING MOTOR ADAPTOR FOR SKIMMER (*only for 83/200/455/800 HDI Skimmer
000-10978-001
transducer)
Spare Parts
Part Number Description RTEL%X)C" R(gg(;f,}sl
2024.00  2489.52
StructureScan 3D Transducer Only - The StructureScan 3D transducer produces
000-12396-001 three-dimensional scans of underwater terrain and fish-holding structure to create a
high-resolution view. Cable length 6.0 m (20 ft)
257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)
. . 501.35 616.67
~ ~ Replacement fairing block for combined StructureScan® 3D L/H and M/H Through-Hull
000-14256-001 Transducers.
000-14260-001 TotalScan™ Through-Hull Transducer Fairing Block Only 501.40 616.72
142595  1753.92
000-10802-001 StructureScan™ HD Skimmer Transom Mount Transducer
303.55 373.37
Replacement Metal Bracket for Active Imaging, TotalScan, StructureScan 3D and HD
000-12603-001 skimmer transducers.
501.35 616.67
000-13581-001 Fairing Block only for StructureScan 3D Through-Hull transducers.
303.55 373.37
000-10874-001 LSS-HD Skimmer Mount Transducer Bracket
184.00 226.32

000-00128-001

4-pin Power Cable for modules and MFDs.

Prices effective as of 31 Jan 2025

14950

Page: 62 of 113



Sonar

XSONIC Transducers
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

413540  5086.54
S$3100 High-performance sonar module. Two independent 1kW channels supporting 1 kW

000-15918-001 Low, Med, High, and High-Wide transducers. Support for high-frequency Activelmaging HD

transducers.

S5100 High-performance CHIRP sonar module. Three fully independent channels able to 7456.60 9171.62
000-13260-001 deliver high-resolution sonar coverage across multiple depth ranges, precision-focused for

offshore sportfishing anglers.

Connects a non-CHIRP transducer with a 9 Pin black connector to the older 7 pin blue 151.80 186.71
000-12571-001 sockets on displays and echosounder modules. For use with transducers that have an analog
temperature sensor.

Connects an XID Airmar CHIRP transducer with a 9 Pin black connector to the older 7 pin 179.40 220.66
000-13977-001 blue sockets on displays and echosounder modules. For use with Airmar 9pin XID
transducers.

777.40 956.20

XSONIC AIRMAR P19 20 DEGREE: single, tilted, 200/83 kHz, transducer. Fixed 20° tilted

000-15880-001 version for 16° to 24° hull deadrise

2617.40  3219.40
Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin

000-13907-001 connector and 10m (33ft) cable.

2617.35  3219.35
Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin

000-13906-001 connector and 10m (33ft) cable.

2617.35  3219.35
Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin

000-13905-001 connector and 10m (33ft) cable.

1467.40  1804.90
B45 - Bronze 600W Through-Hull 50/200 kHz Depth and Temperature transducer. Black 9 pin

000-13946-001 connector with 10m cable. (33ft)

1835.40  2257.54

B60 (0°) - Bronze 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar Transducer.

000-16185-001 Black 9pin connector and 10m (33ft) cable.

2065.40  2540.44

SS60 (0°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13784-001 Transducer. Black 9pin connector and 10m (33ft) cable.

1835.40  2257.54

B60 (0°) - Bronze 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar Transducer.

000-16184-001 Black 9pin connector and 1.8m (6 ft) cable.

1835.40  2257.54

B60 (12°) - Bronze 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar Transducer.

000-16186-001 Black 9pin connector and 10m (33ft) cable.

2065.40  2540.44

SS60 (12°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13785-001 Transducer. Black 9pin connector and 10m (33ft) cable.

183540  2257.54

B60 (20°) - Bronze 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar Transducer.

000-16188-001 Black 9pin connector and 10m (33ft) cable.

000-13786-001 5 SS60 (20°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar 206540 254044
Transducer. Black 9pin connector and 10m (33ft) cable.

Prices effective as of 31 Jan 2025 14950 Page: 63 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

183540  2257.54

B60 (20°) - Bronze 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar Transducer.

000-16187-001 Black 9pin connector and 1.8m (6ft) cable. Boatbuilder only.

4043.40 497338
B75H (0°) - Bronze 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature

000-16189-001 Transducer. 9pin connector with 10m (33ft) cable.

SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 4186.00 514878

Transducer.
9pin connector with 10m (33ft) cable.

000-13911-001

4043.40  4973.38
B75H (12°) - Bronze 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature

000-16190-001 Transducer. 9pin connector with 10m (33ft) cable.

SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 4186.00 5148.78

Transducer.
9pin connector with 10m (33ft) cable.

000-13912-001

404340  4973.38
B75H (20°) - Bronze 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature

000-16191-001 Transducer. 9pin connector with 10m (33ft) cable.

SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 413540 5086.54

Transducer.
9pin connector with 10m (33ft) cable.

000-13913-001

4457.40  5482.60
B75M (0°) - Bronze 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-16192-001 Transducer. 9pin connector and 10m (33ft) cable.

459540  5652.34
SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13908-001 Transducer. 9pin connector and 10m (33ft) cable.

4457.40  5482.60
B75M (12°) - Bronze 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-16193-001 Transducer. 9pin connector and 10m (33ft) cable.

459540  5652.34
SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13909-001 Transducer. 9pin connector and 10m (33ft) cable.

4457.40  5482.60
B75M (20°) - Bronze 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-16194-001 Transducer. 9pin connector and 10m (33ft) cable.

4687.40  5765.50
SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13910-001 Transducer. 9pin connector and 10m (33ft) cable.

$ 8 8 % §

685.40 843.04

000-13942-001 (FI’37’§t; Plastic 600 W In-Hull 50/200 kHz Depth Only. Black 9 pin connector with 10m cable.

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13922-001 connector with 10m (33ft) cable.

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13921-001 connector with 10m (33ft) cable.

Prices effective as of 31 Jan 2025 14950 Page: 64 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13920-001 connector with 10m (33ft) cable.

6205.40  7632.64

SS164 (20°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13918-001 Transducer. Black 9pin connector and 10m (33ft) cable.

6205.40  7632.64

SS164 (12°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13917-001 Transducer. Black 9pin connector and 10m (33ft) cable.

6205.40  7632.64

SS164 (0°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13916-001 Transducer. Black 9pin connector and 10m (33ft) cable.

8137.40 10009.00
B175H-W (0°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature Transducer.

000-16196-001 9pin connector and 10m (33ft) cable.

8045.40  9895.84
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13780-001 Transducer. 9pin connector and 10m (33ft) cable.

8137.40 10009.00
B175H-W (0°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature Transducer.

000-16195-001 9pin connector and 1.8m (6ft) cable.

8137.40 10009.00
B175H-W (12°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-16198-001 Transducer. 9pin connector and 10m (33ft) cable.

8137.40 10009.00
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13781-001 Transducer. 9pin connector and 10m (33ft) cable.

8137.40 10009.00
B175H-W (12°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-16197-001 Transducer. 9pin connector and 1.8m (6ft) cable.

8137.40 10009.00
B175H-W (20°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-16200-001 Transducer. 9pin connector and 10m (33ft) cable.

8045.40 9895.84
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13782-001 Transducer. 9pin connector and 10m (33ft) cable.

8137.40 10009.00
B175H-W (20°) - Bronze 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-16199-001 Transducer. 9pin connector and 1.8m (6ft) cable.

7079.40  8707.66
B175M (0°) - Bronze 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-16202-001 connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13777-001 9pin connector and 10m (33ft) cable.

7079.40  8707.66
B175M (0°) - Bronze 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-16201-001 connector and 1.8m (6ft) cable.

Prices effective as of 31 Jan 2025 14950 Page: 65 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

7079.40  8707.66
B175M (12°) - Bronze 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-16203-001 9pin connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13778-001 9pin connector and 10m (33ft) cable.

7079.40  8707.66
B175M (20°) - Bronze 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-16205-001 9pin connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1TkW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13779-001 9pin connector and 10m (33ft) cable.

7079.40  8707.66
B175M (20°) - Bronze 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-16204-001 9pin connector and 1.8m (6ft) cable.

7539.40  9273.46
B175L (0°) - Bronze 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-16206-001 connector and 10m (33ft) cable.

8045.40  9895.84
SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-13774-001 connector and 10m (33ft) cable.

7539.40  9273.46
B175L (12°) - Bronze 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-16207-001 connector and 10m (33ft) cable.

8045.40  9895.84
SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-13775-001 connector and 10m (33ft) cable.

7539.40  9273.46
B175L (20°) - Bronze 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-16208-001 connector and 10m (33ft) cable.

8045.40  9895.84
SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-13776-001 connector and 10m (33ft) cable.

B258 - Bronze 1kW Fairing-Block Through-Hull 50/200 kHz Depth/Temperature Transducer. 390540 4803.64

000-13964-001 Black 9pin connector and 10m (33ft) cable.

6435.40  7915.54

SS260 - Stainless Steel 1kW Fairing-Block Through-Hull 50/200 kHz Depth/Temperature

000-13783-001 Transducer. Black 9pin connector and 10m (33ft) cable.

551540  6783.94

M260 - 1kW In-Hull Tank Mount 50/200 kHz Depth Transducer. Black 9pin connector and

000-13914-001 10m (33ft) cable.

919540 11310.34
000-16370-001 Airmar B65LH CHIRP Transducer with DUAL 9-pin connectors. 10 m (33 ft) cable.

B275LH-W - Bronze 1kW Through Hull Low/High-Wide Chirp Depth and Temperature 988540 12159.04

000-13771-001 transducer. Dual 9-pin connectors and 10m cable.

10805.40 13290.64
PM275LH-W - 1kW Pocket-Mount Low/High-Wide Chirp Depth/Temperature Transducer. Dual

000-13940-001 black 9pin connectors and 10m (33ft) cable. NSSevo3S or S5100 Sonar Module required.

Prices effective as of 31 Jan 2025 14950 Page: 66 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

10345.40 12724.84

CM275LH-W - 1kW Cavity-Mount Low/High-Wide Chirp Depth/Temperature Transducer. Dual

000-13772-001 black 9pin connectors and 10m (33ft) cable. NSSevo3S or S5100 Sonar Module required.

000-14561-001 B285M - Bronze 1kW Through Hull Medium-Chirp Depth and Temperature transducer. 9-pin 887340 10914.28

connector and 10m cable.

777.40 956.20

P319 - Plastic 600W Thru-Hull 50/200kHz Depth/Temperature. Black 9-pin connector and

000-13915-001 10m (33ft) cable.

24605.40 30264.64

R509LH-W - 3kW Low Chirp / 1kW High Chirp Depth/Temperature Transducer. Dual 9pin

000-13773-001 connector and 10m (33ft) cable. NSSevo3S or S5100 Sonar module required.

22397.40 27548.80

CM599LH-W - 3kW Low Chirp / 1kW High Chirp Depth/Temperature Transducer. Dual 9pin

000-13941-001 connector and 10m (33ft) cable. NSSevo3S or S5100 Sonar module required.

3077.40  3785.20
B744V - Bronze 600W Smart Thru Hull 50/200 Khz Depth/Temperature Transducer. 9pin

000-14804-001 sonar connector and 10m cable. NMEA2000 Speed/Temperature paddle wheel insert.

805.00 990.15

P66 - Plastic 600W 50/200kHz Transom Mount Depth and Temperature transducer. 9pin

000-13919-001 connector and 6 m (19.6 ft) cable.

1605.40 1974.64

TM150M - Plastic 300W Transom Mount Medium-Chirp Transducer. 9pin connector and 10m

000-13944-001 cable.

321540  3954.94

TM165HW - Plastic 600W Transom-Mounted High-Wide Chirp Depth and Temperature

000-15482-001 transducer. 9-pin connector and 9m cable.

5975.40  7349.74

000-13998-001 TM185M - Plastic 1kW Transom-Mounted Medium Chirp Depth and Temperature transducer.
9-pin connector and 10m cable.

5975.40  7349.74

TM185HW - Plastic 1TkW Transom-Mounted High-Wide Chirp Depth and Temperature

000-13997-001 transducer. 9-pin connector and 10m cable.

8735.40 10744.54
000-16371-001 Airmar TM265LH CHIRP Transducer with DUAL 9-pin blue connectors. 10 m (33 ft) cable.

6205.40  7632.64

TM260 - Plastic 1kW Transom-Mounted 50/200kHz Depth and Temperature transducer. 9-pin

000-13904-001 connector and 10m cable.

10575.40 13007.74

TM275LH-W - Plastic 1TkW Transom-Mounted Low/High-Wide Depth and Temperature

000-13770-001 transducer. Dual 9-pin connectors and 10m cable.

1927.40  2370.70

Dual 9-Pin Wiring Block Sonar Adapter, to connect a bare-wire transducer to a 9pin sonar
000-13262-001 module or display.

Prices effective as of 31 Jan 2025 14950 Page: 67 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

423.15 520.48

000-14884-001 High speed skimmer 83/200 kHz transom-mount skimmer depth/temp - Black 9 pin connector

717.55 882.59
000-14885-001 9 Pin 50/200 kHz transom-mount skimmer depth/temp - black 9 pin connector

423.15 520.48
000-14886-001 9-Pin 83/200kHz Pod-Style Shoot-Through Trandsucer. Depth only.

423.15 520.48
000-14887-001 9-Pin 83/200kHz Pod-Style Shoot-Through-Hull or Trolling Motor Mount Transducer w/Temp

464.55 571.40
000-14888-001 9-Pin 83/200kHz Trolling-Motor Pod Transducer w/Temp
Accessories

Part Number Description R?EL?)CI' 35;6[,}3'

151.75 186.66
000-13313-001 Connects older 7 pin blue plug transducers to displays with 9pin transducer ports.

114.95 141.39
000-16295-001 Transducer, Network cable pulling tools

Connects a non-CHIRP transducer with a 9 Pin black connector to the older 7 pin blue 151.80 186.71

000-12571-001 sockets on displays and echosounder modules. For use with transducers that have an analog
temperature sensor.

Connects an XID Airmar CHIRP transducer with a 9 Pin black connector to the older 7 pin 179.40 220.66

000-13977-001 blue sockets on displays and echosounder modules. For use with Airmar 9pin XID
transducers.
418.55 514.82
PD-WBL 83/200 kHz shoot-thru or trolling-motor mount transducer. Depth only. Cable Length
000-0106-73 6m (20ft)

777.40 956.20

XSONIC AIRMAR P19 20 DEGREE: single, tilted, 200/83 kHz, transducer. Fixed 20° tilted

000-15880-001 version for 16° to 24° hull deadrise

455.35 560.09

PDT-WBL 83/200 kHz Pod-Style / Trolling-Motor mount with built-in tempsensor and 7-pin

000-0106-74 blue connector. 6m (20ft) cable.

2617.40  3219.40
Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin

000-13907-001 connector and 10m (33ft) cable.

Activelmaging™ HD 3-IN-1 delivers the highest-definition views of CHIRP, SideScan™, and 2065.40  2540.44
DownScan Imaging™ in one transducer. Comes with a 7.6m (25ft) cable with a 9-pin

connector.

Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS

Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar

module is required.

000-16062-001

Activelmaging™ HD 3-in-1 (Medium/High)— SideScan Fish Reveal. Delivers the 229540  2823.34
000-16060-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.

Prices effective as of 31 Jan 2025 14950 Page: 68 of 113



Sonar

SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13908-001 Transducer. 9pin connector and 10m (33ft) cable.

Part Number Description R'?:Lﬁ()c" 3?;6',}5'
2617.35  3219.35
000-13906-001 Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin
connector and 10m (33ft) cable.
575.00 707.25
000-0106-89 PDRT-WBL 83/200 kHz shoot-thru or trolling-motor mount Skimmer® with remote temp
sensor with blue connector. Cable Length 6 m (20 ft)
2617.35  3219.35
000-13905-001 Through-Hull Bronze HDI Transducer. 50/200kHz 455/800 kHz DownScan. Black 9 Pin pin
connector and 10m (33ft) cable.
252540  3106.24
Activelmaging™ HD 3-in-1 (High/Wide)— SideScan Fish Reveal. Delivers the
000-16061-001 highest-definition views of CHIRP, SideScan™, and DownScan Imaging™ in one transducer
+ SideScan Fish Reveal when connected to an S3100 sonar module.
1467.40  1804.90
000-13946-001 B45 - Bronze 600W Through-Hull 50/200 kHz Depth and Temperature transducer. Black 9 pin
connector with 10m cable. (33ft)
391.00 480.93
000-0099-95 TS-1BL Temperature sensor (non-networked) Cable Length 6 m (20 ft).
2065.40  2540.44
000-13784-001 SS60 (0°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar
Transducer. Black 9pin connector and 10m (33ft) cable.
Activelmaging™ HD 2-in-1 Transducer. Provides Activelmaging HD technology for SideScan 1697.40  2087.80
and DownScan while leaving you free to select other transducer options for Traditional/Chirp
Sonar. 7.6m (25 ft) cable with 9-pin connector.
000-16063-001
Compatibility: Direct connect to Lowrance HDS PRO or S3100 module. For Lowrance HDS
Live, Carbon, Elite FS, and Simrad NSS evo3(S) / NSOevo3(S) displays, an S3100 sonar
module is required.
2065.40  2540.44
000-13785-001 SS60 (12°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar
Transducer. Black 9pin connector and 10m (33ft) cable.
2065.40  2540.44
000-13786-001 SS60 (20°) - Stainless Steel 600 W Through-Hull 50/200 kHz Depth/Temperature Sonar
Transducer. Black 9pin connector and 10m (33ft) cable.
Extensi ble for 9-pin transd For opti rf do not than 1 40015 49219
~ " xtension cable for 9-pin transducers. *For optimum performance do not use more than
000-00099-006 extension per installation.
SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 4186.00 514878
000-13911-001 Transducer.
- 9pin connector with 10m (33ft) cable.
SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 4186.00 514878
000-13912-001 Transducer.
- 9pin connector with 10m (33ft) cable.
SS75H - Stainless Steel 600W Thru Hull High CHIRP (130-210kHz) Depth/Temperature 413540 5086.54
000-13913-001 Transducer.
= 9pin connector with 10m (33ft) cable.
! 459540  5652.34

Prices effective as of 31 Jan 2025 14950

Page: 69 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

459540  5652.34
SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13909-001 Transducer. 9pin connector and 10m (33ft) cable.

4687.40  5765.50
SS75M - Stainless Steel 600W Thru Hull Medium-CHIRP (80-130kHz) Depth/Temperature

000-13910-001 Transducer. 9pin connector and 10m (33ft) cable.

$9

685.40 843.04

000-13942-001 537159&; Plastic 600 W In-Hull 50/200 kHz Depth Only. Black 9 pin connector with 10m cable.

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13922-001 connector with 10m (33ft) cable.

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13921-001 connector with 10m (33ft) cable.

2433.40  2993.08

B150M - Bronze 300W Medium-Chirp Thru-Hull Depth/TemperatureTransducer. 9pin

000-13920-001 connector with 10m (33ft) cable.

6205.40  7632.64

SS164 (20°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13918-001 Transducer. Black 9pin connector and 10m (33ft) cable.

6205.40  7632.64

SS164 (12°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13917-001 Transducer. Black 9pin connector and 10m (33ft) cable.

6205.40  7632.64

SS164 (0°) - Stainless Steel 1kW Through-Hull 50/200 kHz Depth/Temperature Sonar

000-13916-001 Transducer. Black 9pin connector and 10m (33ft) cable.

804540  9895.84
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13780-001 Transducer. 9pin connector and 10m (33ft) cable.

8137.40 10009.00
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13781-001 Transducer. 9pin connector and 10m (33ft) cable.

8045.40 9895.84
SS175H-W - Stainless Steel 1kW High-Wide-CHIRP Through Hull Depth/Temperature

000-13782-001 Transducer. 9pin connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1TkW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13777-001 9pin connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13778-001 9pin connector and 10m (33ft) cable.

6665.40  8198.44
SS175M - Stainless Steel 1kW Medium-CHIRP Through Hull Depth/Temperature Transducer.

000-13779-001 9pin connector and 10m (33ft) cable.

SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin 8045.40 9895.84

000-13774-001 connector and 10m (33ft) cable.

Prices effective as of 31 Jan 2025 14950 Page: 70 of 113



Sonar

Part Number Description R?:Lﬁ()c" 3??6',}5'

804540  9895.84
SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-13775-001 connector and 10m (33ft) cable.

8045.40  9895.84
SS175L - Stainless Steel 1kW Low-CHIRP Through Hull Depth/Temperature Transducer. 9pin

000-13776-001 connector and 10m (33ft) cable.

B258 - Bronze 1kW Fairing-Block Through-Hull 50/200 kHz Depth/Temperature Transducer. 3905.40 4803.64

000-13964-001 Black 9pin connector and 10m (33ft) cable.

643540  7915.54

SS260 - Stainless Steel 1kW Fairing-Block Through-Hull 50/200 kHz Depth/Temperature

000-13783-001 Transducer. Black 9pin connector and 10m (33ft) cable.

551540  6783.94

M260 - 1kW In-Hull Tank Mount 50/200 kHz Depth Transducer. Black 9pin connector and

000-13914-001 10m (33ft) cable.

B275LH-W - Bronze 1kW Through Hull Low/High-Wide Chirp Depth and Temperature 988540 12159.04

000-13771-001 transducer. Dual 9-pin connectors and 10m cable.

10805.40 13290.64
PM275LH-W - 1kW Pocket-Mount Low/High-Wide Chirp Depth/Temperature Transducer. Dual

000-13940-001 black 9pin connectors and 10m (33ft) cable. NSSevo3S or S5100 Sonar Module required.

10345.40 12724.84

CM275LH-W - 1kW Cavity-Mount Low/High-Wide Chirp Depth/Temperature Transducer. Dual

000-13772-001 black 9pin connectors and 10m (33ft) cable. NSSevo3S or S5100 Sonar Module required.

000-14561-001 B285M - Bronze 1kW Through Hull Medium-Chirp Depth and Temperature transducer. 9-pin 887340 10914.28

connector and 10m cable.

777.40 956.20

P319 - Plastic 600W Thru-Hull 50/200kHz Depth/Temperature. Black 9-pin connector and

000-13915-001 10m (33ft) cable.

24605.40 30264.64

R509LH-W - 3kW Low Chirp / 1kW High Chirp Depth/Temperature Transducer. Dual 9pin

000-13773-001 connector and 10m (33ft) cable. NSSevo3S or S5100 Sonar module required.

22397.40 27548.80

CMS599LH-W - 3kW Low Chirp / 1kW High Chirp Depth/Temperature Transducer. Dual 9pin

000-13941-001 connector and 10m (33ft) cable. NSSevo3S or S5100 Sonar module required.

3077.40  3785.20
B744V - Bronze 600W Smart Thru Hull 50/200 Khz Depth/Temperature Transducer. 9pin

000-14804-001 sonar connector and 10m cable. NMEA2000 Speed/Temperature paddle wheel insert.

805.00 990.15

000-13919-001 P66 - Plastic 600W 50/200kHz Transom Mount Depth and Temperature transducer. 9pin
connector and 6 m (19.6 ft) cable.

1605.40 1974.64

TM150M - Plastic 300W Transom Mount Medium-Chirp Transducer. 9pin connector and 10m

000-13944-001 cable.

TM165HW - Plastic 600W Transom-Mounted High-Wide Chirp Depth and Temperature 3215.40 3954.94

000-15482-001 transducer. 9-pin connector and 9m cable.

Prices effective as of 31 Jan 2025 14950 Page: 71 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'
5975.40  7349.74
000-13998-001 TM185M - Plastic 1kW Transom-Mounted Medium Chirp Depth and Temperature transducer.
9-pin connector and 10m cable.
5975.40  7349.74
000-13997-001 TM185HW - Plastic 1kW Transom-Mounted High-Wide Chirp Depth and Temperature
transducer. 9-pin connector and 10m cable.
6205.40 7632.64
TM260 - Plastic 1kW Transom-Mounted 50/200kHz Depth and Temperature transducer. 9-pin
000-13904-001 connector and 10m cable.
10575.40 13007.74
000-13770-001 TM275LH-W - Plastic 1TkW Transom-Mounted Low/High-Wide Depth and Temperature
transducer. Dual 9-pin connectors and 10m cable.
1927.40  2370.70
Dual 9-Pin Wiring Block Sonar Adapter, to connect a bare-wire transducer to a 9pin sonar
000-13262-001 module or display.
423.15 520.48
000-14884-001 High speed skimmer 83/200 kHz transom-mount skimmer depth/temp - Black 9 pin connector
717.55 882.59
000-14885-001 9 Pin 50/200 kHz transom-mount skimmer depth/temp - black 9 pin connector
423.15 520.48
000-14886-001 9-Pin 83/200kHz Pod-Style Shoot-Through Trandsucer. Depth only.
423.15 520.48
000-14887-001 9-Pin 83/200kHz Pod-Style Shoot-Through-Hull or Trolling Motor Mount Transducer w/Temp
464.55 571.40
000-14888-001 9-Pin 83/200kHz Trolling-Motor Pod Transducer w/Temp
91.95 113.10
000-0051-45 TMB-S Trolling-motor mount bracket for standard Skimmer® transducer
91.95 113.10
000-0051-52 Suction Cup Kit - Suction cup kit for portable skimmer transducers
114.95 141.39
000-10392-001 50/200kHz Skimmer™ transducer mounting kit
Epoxy transducer mounting adhesive. NOTE: THIS PACK CONTAINS SIX SACHETS AND 50.55 62.18
000-0106-98 PRICE IS PER SACHET. Please Multiply price by six.
000-0099-06 Mounting kit for transom mount 83/200 kHz skimmer transducers. 114.95 141.39
243.75 299.82
000-10606-001 KAYAK SCUPPER HOLE TRANSDUCER MOUNT
Prices effective as of 31 Jan 2025 14950 Page: 72 of 113



Sonar

Spare Parts

Part Number Description RTI':L%X)CL R(g?l;"(;%l

000-15470-001 B744VC ACTIVE INSERT - REPLACEMENT 1421.40  1748.32

257.60 316.85

000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)

114.95 141.39
000-10392-001 50/200kHz Skimmer™ transducer mounting kit

184.00 226.32
000-00128-001 4-pin Power Cable for modules and MFDs.

Prices effective as of 31 Jan 2025 14950 Page: 73 of 113



Sonar

Blue
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

SonarHub Module, with power cable and Ethernet cable 4.5m (15ft). Requires adapter 2980.80 3666.38

000-11142-001 000-12571-001 or 000-13977-001 adapter cable to use Airmar Non-Chirp or Chirp 9-pin
transducers.
151.75 186.66
000-13313-001 Connects older 7 pin blue plug transducers to displays with 9pin transducer ports.
354.15 435.61
000-0106-72 HST - WSBL 83/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector . Cable

Length 6 m (20 ft)

712.95 876.93
000-0106-77 HST-DFSBL 50/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector. Cable
Length 6 m (20 ft)

418.55 514.82

PD-WBL 83/200 kHz shoot-thru or trolling-motor mount transducer. Depth only. Cable Length
000-0106-73 6m (20ft)
455.35 560.09
000-0106-74 PDT-WBL 83/200 kHz Pod-Style / Trolling-Motor mount with built-in tempsensor and 7-pin

blue connector. 6m (20ft) cable.

575.00 707.25

000-0106-89 PDRT-WBL 83/200 kHz shoot-thru or trolling-motor mount Skimmer® with remote temp
sensor with blue connector. Cable Length 6 m (20 ft)

455.35 560.09

000-0106-94 PTI-WBL - Ice transducer with 7-pin blue connector. 7ft Cable.
391.00 480.93
000-0099-95 TS-1BL Temperature sensor (non-networked) Cable Length 6 m (20 ft).
000-10046-001 7pin adapter cable to bare wires. To connect a bare-wire transducer to a display with 7pin 13340 164.08
sonar port.
225.35 277.19
000-0099-93 XT-12BL 12ft blue 7 pin transducer extension Cable: 3.65 m (12 ft)
225.35 277.19
000-0099-94 XT-20BL 20ft blue 7 pin transducer extension cable: 6 m (20 ft)
Accessories
Part Number Description R?:L?‘IX)CL R(i,f(;%l
151.75 186.66
000-13313-001 Connects older 7 pin blue plug transducers to displays with 9pin transducer ports.
114.95 141.39
000-16295-001 Transducer, Network cable pulling tools

Prices effective as of 31 Jan 2025 14950 Page: 74 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

Connects a non-CHIRP transducer with a 9 Pin black connector to the older 7 pin blue 151.80 186.71

000-12571-001 sockets on displays and echosounder modules. For use with transducers that have an analog
temperature sensor.

Connects an XID Airmar CHIRP transducer with a 9 Pin black connector to the older 7 pin 179.40 220.66

000-13977-001 blue sockets on displays and echosounder modules. For use with Airmar 9pin XID
transducers.
000-10046-001 7pin adapter cable to bare wires. To connect a bare-wire transducer to a display with 7pin 133.40 164.08
sonar port.
225.35 277.19
000-0099-93 XT-12BL 12ft blue 7 pin transducer extension Cable: 3.65 m (12 ft)
225.35 277.19
000-0099-94 XT-20BL 20ft blue 7 pin transducer extension cable: 6 m (20 ft)
. . . . 400.15 492.19
000-00099-006 Extension cable for 9-pin transducers. *For optimum performance do not use more than 1

extension per installation.

Epoxy transducer mounting adhesive. NOTE: THIS PACK CONTAINS SIX SACHETS AND 50.55 62.18
000-0106-98 PRICE IS PER SACHET. Please Multiply price by six.

Spare Parts
e RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)
114.95 141.39
000-10392-001 50/200kHz Skimmer™ transducer mounting kit
000-0099-06 Mounting kit for transom mount 83/200 kHz skimmer transducers. 114.95 141.39
184.00 226.32
000-00128-001 4-pin Power Cable for modules and MFDs.

Prices effective as of 31 Jan 2025 14950 Page: 75 of 113



Sonar

HDI™

Main Products

Part Number

000-15640-001

_— RRP excl. RRP incl.
Description (PLN) (23.0%)

HDI Skimmer® transducer 83/200/455/800kHz for Hook2*, Hook Reveal, and Eagle 7,9. 538.15  661.93
Built-in temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector:
8-pin push fit. (*83 kHz / Mid CHIRP frequency options are not available on Hook2)

000-15639-001

HDI Skimmer® transducer 50/200/455/800kHz for Hook2* and Hook Reveal, with built in 1108.55  1363.52

temp. Includes mounting bracket and hardware. Cable Length 6m (20 ft). Connector: 8 pin
push fit. (* 50 kHz / Low CHIRP frequency options are not available on Hook2)

000-14267-001

666.95 820.35

HDI Skimmer MED/HIGH 455/800 transducer. 9 pin Black xSonic Connector in Lowrance
branded blue housing with 2 m ( 6ft) transducer cable.

000-12570-001

657.80 809.09
HDI Skimmer MED/HIGH 455/800 transducer. 9 pin Black xSonic Connector in Lowrance
branded blue housing. 4.5 m (15 ft) cable

000-12728-001

667.00 820.41
HDI Skimmer med/high (455/800 kHz) transducer. 9 pin Black X-Sonic Connector. Cable
Length 6 m (20 ft)

000-12569-001

1311.00 1612.53
HDI Skimmer L/H 455/800 xSonic 9-pin - Black - 6m (20 ft) Cable

000-13889-001

666.95 820.35

HDI Skimmer® transducer 83/200/455/800kHz with built in temp. Includes mounting bracket
and hardware. Cable Length 1.8m (6ft). Blue Lowrance branded body.

000-10976-001

666.95 820.35
HDI Skimmer® transducer 83/200/455/800kHz with built in temp. Includes mounting bracket
and hardware. Cable Length 6m (20 ft)

000-10977-001

1310.95 1612.47
HDI Skimmer® transducer 50/200/455/800kHz with built in temp. Includes mounting bracket
and hardware. Cable Length 6 m (20 ft)

Accessories

Part Number

000-13313-001

Description Rl?ll:&x)cl. R(gg’ (;n:/::)l

151.75 186.66
Connects older 7 pin blue plug transducers to displays with 9pin transducer ports.

000-16295-001

114.95 141.39
Transducer, Network cable pulling tools

000-13977-001

Connects an XID Airmar CHIRP transducer with a 9 Pin black connector to the older 7 pin 179.40 220.66

blue sockets on displays and echosounder modules. For use with Airmar 9pin XID
transducers.

391.00 480.93

000-0099-95 TS-1BL Temperature sensor (non-networked) Cable Length 6 m (20 ft).

225.35 277.19
000-0099-93 XT-12BL 12ft blue 7 pin transducer extension Cable: 3.65 m (12 ft)

225.35 277.19
000-0099-94 XT-20BL 20ft blue 7 pin transducer extension cable: 6 m (20 ft)

Prices effective as of 31 Jan 2025

14950 Page: 76 of 113



Sonar

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

91.95 113.10
000-0051-52 Suction Cup Kit - Suction cup kit for portable skimmer transducers

243.75 299.82

000-10606-001 KAYAK SCUPPER HOLE TRANSDUCER MOUNT

119.55 147.05
HDI TROLLING MOTOR ADAPTOR FOR SKIMMER (*only for 83/200/455/800 HDI Skimmer

000-10978-001 transducer)

252.95 311.13
000-14414-001 8 pin 10 Ft Extension Cable: This extension cable is only for Hook2 / Hook Reveal / Cruise 8
pin compatible transducers such as Splitshot, TripleShot, Cruise Skimmer

Spare Parts

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

170.15 209.29
000-10262-001 Replacement mount for Skimmer and top housing.

Prices effective as of 31 Jan 2025 14950 Page: 77 of 113



Sonar

Uniplug
Main Products
RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
340.35 418.64
000-0106-48 HST-WSU 83/200kHz Skimmer Transducer with Temp Sensor. 20ft Cable and UniPlug.
391.50 481.55
000-0106-69 PDRT-WSU - 83/200kHz Pod style transducer with Remote Temp sensor. 20ft cable.
510.55 627.98
000-0106-68 PTI-WSU - 83/200kHz Ice Transducer with 7ft cable and UniPlug connector.

Spare Parts

- RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

000-0099-06 Mounting kit for transom mount 83/200 kHz skimmer transducers. 114.95 141.39

Prices effective as of 31 Jan 2025 14950 Page: 78 of 113



Sonar

DSI™
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-10260-001 Dual frequency DSI DownScan Skimmer® transducer 455/800kHz with built in temp. Includes 593.40 729.88

20ft cable, mounting bracket and hardware.

Accessories
Part Number Description R?'l:lj‘:‘)c" R(gg(;g/f)l
91.95 113.10
000-0051-52 Suction Cup Kit - Suction cup kit for portable skimmer transducers
000-0099-06 Mounting kit for transom mount 83/200 kHz skimmer transducers. 114.95 141.39
. . . . 119.55 147.05
000-10261-001 Low profile trolling motor mount for use with DSI Skimmer transducer. Includes trolling motor
snap on mount, stainless steel trolling motor clamp, and 2 zip ties.
243.75 299.82
000-10606-001 KAYAK SCUPPER HOLE TRANSDUCER MOUNT

Prices effective as of 31 Jan 2025 14950 Page: 79 of 113



Sonar

Cables

Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)

114.95 141.39
000-16295-001 Transducer, Network cable pulling tools

Prices effective as of 31 Jan 2025 14950 Page: 80 of 113



Radar

Halo
Main Products

Part Number Description RTIEL%X)CL R(g?l;"(;%l

HALO20 Radar - A cost-effective compact 20" Radar dome. 24nm range and 24RPM. The 9430.00  11598.90

000-14543-001 perfect radar solution for budget-conscious boaters with small sportfishing vessels and
dayboats.

HALO20+ Radar - A compact 20" powerful 25W Solid-State Radar, delivering 60RPM at short 11086.00  13635.78

000-14542-001 range and up to 36nm range. Identify hazards in an instant with VelocityTrack™ Doppler
technology and can run dual scale to identify hazards long and far.

HALO24 Radar - A 24" powerful 25W Solid-State Radar, delivering 60RPM at short range and 12420.00  15276.60

000-14541-001 up to 48nm range. Identify hazards in an instant with VelocityTrack™ Doppler technology and
can run dual scale to identify hazards long and far.

Accessories
Part Number Description R?'l:lj‘:‘)c" R(gg(;g/f)l
275540  3389.14
000-10795-001 SC20 Mast mount kit for HALO 20/20+ and Broadband Dome Radars.

3077.40  3785.20

000-12607-001 Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

network.

299.00 367.77
000-14551-001 Ejr:jz?les re-use of the existing BR24/3G/4G cable onboard when upgrading to a HALO Dome

547.40 673.30
000-14548-001 Power / Ethernet cable, 10 m (33 ft) for HALO dome radars and B&G Nemesis displays

823.40 1012.78
000-14549-001 Power / Ethernet cable, 20 m (65.5 ft) for HALO dome radars and B&G Nemesis displays

1099.40 1352.26
000-14550-001 Power / Ethernet cable, 30 m (98.5 ft) for HALO dome radars and B&G Nemesis displays
Spare Parts
Part Number Description R?EL?)CI' 35;6[,}3'

193.20 237.64
000-14552-001 Ethernet adapter cable, RJ45 F to 5 Pin male, 1.5 m (4.9 ft). Ships with water proof boot.

354.20 435.67
000-14547-001 Power / Ethernet cable, 5 m (16.5 ft) for HALO dome radars and B&G Nemesis displays

Prices effective as of 31 Jan 2025 14950 Page: 81 of 113



Autopilot

Autopilot Kits
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
Outboard Pilot Hydraulic Pack: Includes Point-1 AP Heading and GPS Sensor, NAC-1 6067.40  7462.90
000-15952-001 Autopilot Computer, PUMP-1 MKII — 0.8L reversible hydraulic pump, hydraulic fitting kit,

Standby-Auto button and Micro-C network components.

NAC-1 Precision Hydraulic Autopilot pack: Includes Precision-9 Heading Sensor, NAC-1 8597.40  10574.80

000-15951-001 Autopilot Computer, PUMP-1 (Mkll) Hydraulic Pump — 0.8L reversible hydraulic pump,
Standby-Auto button and Micro-C network components.

7455.83  9170.67
000-13335-001 NAC-2 Autopilot Core Pack - Comes with NAC-2 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.

6229.17  7661.88

NAC-2 VRF Autopilot Core Pack - Comes with NAC-2 Autopilot Computer and Precision-9

000-13337-001 Compass.

9698.33 11928.95
NAC-3 VRF Autopilot Core Pack - Comes with NAC-3 Autopilot Computer and Precision-9

000-13338-001 Compass.

10944.17 13461.33
000-13336-001 NAC-3 Autopilot Core Pack - Comes with NAC-3 Autopilot Computer, Precision-9 Compass
and RF-25N Rudder Feedback unit.

7585.40  9330.04
Outboard Pilot Cable steer Pack: Includes Point-1 Heading and GPS Sensor, NAC-1 Autopilot

000-11749-001 Computer, HELM-1 cable-steer helm drive unit , Standby-Auto button and Micro-C network
components.
Accessories
o RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

1467.40 1804.90
NAC-1/NAC-2 ONLY. The RF40 is a medium-duty rudder feedback unit designed specific for

000-14439-001 use with NAC-1 and NAC-2 autopilot computers. 3pin 15m (50ft) cable.

2203.40 2710.18
000-12316-001 WR10 Wireless Autopilot Remote. Includes NMEA2000 connected Bluetooth base station.

124.20 152.77
000-14268-001 Waterproof 4-core cable joiner for NAC-1, 2 and 3 Autopilot installations. Convenient way to
connect your computer to the drive unit and ensure a waterproof connection.

Spare Parts

Part Number Description RTEL%X)C" R(gg(;f,}sl

1283.40 1578.58
Point-1 AP GPS and Heading antenna provides extremely accurate and rapid boat position
000-12930-002 and speed updates to the network. Built in magnetic compass with accuracy and tuning
specific for Lowrance Autopilots also provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds.

3077.40  3785.20

Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®

000-12607-001 network.

3031.40 3728.62
000-11770-002 PUMP-1: Hydraulic Pump — 0.8L reversible hydraulic pump, compatible with SeaStar manual
helm pumps up to 14ci. Includes 3 x ORB-5 to 9/16 UNF fittings.

Prices effective as of 31 Jan 2025 14950 Page: 82 of 113



Autopilot

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

777.40 956.20
000-15942-001 Autopilot ORB hose fitting kit for MKII Pumps 1, 2, 3, 4 &5

Auto-Stby Button - Metal. For a physical Auto/Stby button in systems with NAC-1 and NAC-2 225.40 277.24

000-13703-001 Autopilot Computers.

335340 4124.68
NAC-1 Autopilot Computer — The brains behind the Outboard Pilot and Drive Pilot systems. It

000-11769-001 contains the steering computer and electronics for the drive unit motor and clutch.

Prices effective as of 31 Jan 2025 14950 Page: 83 of 113



Autopilot

Autopilot Accessories

Main Products

Part Number Description RTIEL?‘IX)CL R(g?l:' (;ch)l
The low-current NAC-2 autopilot computer is ideal for smaller vessels, designed to run small 4319.40 5312.86
000-13249-001 hydraulic drives and mechanical drives for vessels up to 10 metres (33 feet) in length. Also
provides solenoid output.
The high-current NAC-3 autopilot computer is designed for vessels over 10 metres (33 feet) in 7585.40  9330.04
000-13250-001 length, with the ability to run heavy-duty hydraulic drive pumps & linear rams, and also
provides solenoid output.
3031.40  3728.62
000-11770-002 PUMP-1: Hydraulic Pump — 0.8L reversible hydraulic pump, compatible with SeaStar manual
helm pumps up to 14ci. Includes 3 x ORB-5 to 9/16 UNF fittings.
3307.40  4068.10
PUMP-2: 12V DC: Reversible hydraulic gear pump. 0.8L (49 cu.in) / min. For cylinder
000-15444-002 displacement of 80 cc - 250 cc (4.9 - 15.2 cu.in). O-Ring Boss (ORB) connections. Includes 3
x ORB-5 to 9/16 UNF fittings. SteadySteer compatible. (NAC-2 / AC12 required).
4043.40  4973.38
PUMP-3: 12V DC: Reversible hydraulic gear pump. 1.6L (98 cu.in) / min. For cylinder
000-15445-002 displacement of 160-550 cc (9.8 - 33.5 cu.in). O-Ring Boss (ORB) connections. Includes 3 x
ORB-5 to 9/16 UNF fittings. SteadySteer compatible. (NAC-3 / AC42 required).
PUMP-4: 12V DC: Reversible hydraulic gear pump. 3.0L (183 cui) / min. For cylinder 5883.40  7236.58
000-15446-002 displacement of 290 - 960 cc (17.7 - 58.5 cu. in.). O-Ring Boss (ORB) connections. Includes 3
x ORB-5 to 9/16 UNF fittings. SteadySteer compatible. (NAC-3 / AC42 required).
PUMP-5: 24V DC: Reversible hydraulic gear pump. 3.0L (183 cui) / min. For cylinder 5883.40  7236.58
000-15447-002 displacement of 290 - 960 cc (17.7 - 58.5 cu. in.). O-Ring Boss (ORB) connections. Includes 3
x ORB-5 to 9/16 UNF fittings. SteadySteer compatible. (NAC-3 / AC42 required).
000-10756-001 RF25N Rudder Feedback Unit 146740 1804.90
With transmission link and 5 m (16.5 ft) NMEA2000 Micro-C cable and T joiner.
1320.20  1623.85
20193744 RF300 Frequency Rudder Feedback - 10m cable and transmission link assembly.
1835.40  2257.54
20188074 LF3000 Linear Feedback - For use with outboard system if a rudder angle is desired. Also
requires LFI3000MK2 priced/ordered separately.
777.40 956.20
000-15942-001 Autopilot ORB hose fitting kit for MKII Pumps 1, 2, 3, 4 &5
. . o . 652.74 802.87
20188082 LFI3000MK?2 Linear Feedback Interface box - Required for use on outboard application with
LF3000 Linear Feedback.
. . . . " 1467.40  1804.90
000-14439-001 NAC-1/NAC-2 ONLY. The RF40 is a medium-duty rudder feedback unit designed specific for
use with NAC-1 and NAC-2 autopilot computers. 3pin 15m (50ft) cable.
230.00 282.90
000-15944-001 Autopilot fitting adaptor kit. Contains 3 x ORB-5 to ¥4" NPT adaptors
2617.40  3219.40
000-15949-001 ORB hose fitting kit for MKIl Pumps 1, 2, 3, 4 &5, including SteadySteer
3772.00 4639.56
~ ~ Autopilot fitting kit for MKIl Pumps 2, 3, 4 &5 for use with Verado systems. Includes
000-15950-001 SteadySteer
252540  3106.24

000-15943-001

Verado autopilot fitting kit for MKIl Pumps 1, 2, 3, 4 &5

Prices effective as of 31 Jan 2025

14950

Page: 84 of 113



Autopilot

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

SteadySteer™ Flow Switch Only. Enjoy increased convenience without sacrificing safety with 2111.40 2597.02

000-15734-001 SteadySteer - a new functionality for autopilot systems that enables immediate, manual
control of a vessel through turns without disengaging the autopilot.

The HELM-1 is a complete autopilot drive unit for cable-steered vessels, and replaces your 5561.40 6840.52
000-11771-001 existing manual helm drive behind the dash. Designed for easy installation and retrofit, the

HELM-1 features an integrated rudder feedback sensor and is plug-and-play compatible with

NAC-1 and NAC-2 autopilot computers.

2203.40  2710.18
000-12316-001 WR10 Wireless Autopilot Remote. Includes NMEA2000 connected Bluetooth base station.

Auto-Stby Button - Metal. For a physical Auto/Stby button in systems with NAC-1 and NAC-2 225.40 277.24

000-13703-001 Autopilot Computers.

335340 4124.68
NAC-1 Autopilot Computer — The brains behind the Outboard Pilot and Drive Pilot systems. It

000-11769-001 contains the steering computer and electronics for the drive unit motor and clutch.

Accessories
e RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
777.40 956.20
000-15942-001 Autopilot ORB hose fitting kit for MKIl Pumps 1, 2, 3, 4 &5

1467.40  1804.90
NAC-1/NAC-2 ONLY. The RF40 is a medium-duty rudder feedback unit designed specific for

000-14439-001 use with NAC-1 and NAC-2 autopilot computers. 3pin 15m (50ft) cable.

230.00 282.90

000-15944-001 Autopilot fitting adaptor kit. Contains 3 x ORB-5 to ¥4" NPT adaptors

2617.40  3219.40
000-15949-001 ORB hose fitting kit for MKIl Pumps 1, 2, 3, 4 &5, including SteadySteer

3772.00  4639.56

~ ~ Autopilot fitting kit for MKIl Pumps 2, 3, 4 &5 for use with Verado systems. Includes

000-15950-001 SteadySteer

252540  3106.24
000-15943-001 Verado autopilot fitting kit for MKIl Pumps 1, 2, 3, 4 &5

2203.40  2710.18
000-12316-001 WR10 Wireless Autopilot Remote. Includes NMEA2000 connected Bluetooth base station.

124.20 152.77

000-14268-001 Waterproof 4-core cable joiner for NAC-1, 2 and 3 Autopilot installations. Convenient way to

connect your computer to the drive unit and ensure a waterproof connection.

Spare Parts

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
1237.40 1522.00
000-12359-001 WR10 BT-1 Base Station Only
961.40 1182.52
000-12358-001 WR10 Wireless Remote for Autopilot.

Prices effective as of 31 Jan 2025 14950 Page: 85 of 113



Autopilot

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

299.00 367.77

PUMP-X Motor Brushes - Autopilot pump brush kit for PUMP-2,3,4 & 5. 2Pcs.

000-15858-001 Note: Not for Pump-1

SteadySteer™ Flow Switch Only. Enjoy increased convenience without sacrificing safety with 2111.40  2597.02

000-15734-001 SteadySteer - a new functionality for autopilot systems that enables immediate, manual
control of a vessel through turns without disengaging the autopilot.

000-14464-001 NAC-1 & NAC-2 Power Cable - 2m 174.80 215.00

174.80 215.00

000-14798-001 NAC-2 Rudder feedback cable: Used to connect resistive rudder feedback units to either
NAC-1 or NAC-2. 3 Pin connector to 3 bare wires. 2 m (6.5 ft)

000-14463-001 NAC-2 Spare Drive Cable - 2m (6.5 ft) 174.80 215.00

Prices effective as of 31 Jan 2025 14950 Page: 86 of 113



VHF and AIS

Fixed VHF
Main Products

Part Number Description RTIEL%X)CL R(g?l;"(;%l

000-14472-001 Lowrance LINK-9 marine VHF radio with DSC and AIS receiver. 215740 265360

1099.40 1352.26
000-14493-001 Lowrance Link-6S Marine DSC VHF Radio. With built in GPS.

437.00 537.51

000-15651-001 SP100: External VHF speaker. 10W @ 4 Ohms. Comes with an attached twin core 2 m (6.5 ft)

cable.
Accessories
Part Number Description R'?SL‘LX)C" Rgg (;':/f)l

409.40 503.56
AA000355 Navico 1710 VHF antenna, 2.5 m (8 ft) ultraglass, quickfit @ 6dB

225.40 277.24
AA000358 Navico 1770 VHF antenna, 1 m (3 ft) Ultraglass, quickfit @ 3dB

248.40 305.53
AA000223 Heavy-Duty Nylon VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30
AA000224 Stainless Steel VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30

VHF antenna mount. Heavy-duty stainless steel fold-down antenna mount. With attached 7 m

000-16055-001 (23 ft) cable. Fastfit connector

345.00 424.35
AA000352 Navico 1720 VHF antenna, 1.1 m (3 ft) stainless masthead whip with bracket @ 3dB

133.40 164.08
AA000400 VHF extension cable 5 m (16 ft)

391.00 480.93
000-15859-001 VHF ANTENNA,1Meter Back Fiberglass Stainless Steel, Quick fit fitting.

253.00 311.19

10m Extension Cable for RS40, RS40-B, V60, V60B and Link-9 VHF Fist Mics, and

000-14924-001 H100/HS100 Handsets.

202.40 248.95

5m Extension Cable for RS40, RS40-B, V60, V60B and Link-9 VHF Fist Mics, and

000-14923-001 H100/HS100 Handsets.

404.80 497.90
000-14968-001 Navico 1710 VHF antenna, 2.5 m (8 ft) ultraglass, quickfit @ 6dB BLACK

GPS-500 - GPS antenna for Navico AIS transceivers and VHF systems. 10 m (33 ft) cable 685.40 843.04

000-13613-001 with SMA connector.

Prices effective as of 31 Jan 2025 14950 Page: 87 of 113



VHF and AIS

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
71.02 87.36
000-14065-001 Bracket mount knobs for Link-6 VHF radio (White)
37.86 46.56
000-14063-001 VHF,MIC CLIP FOR LINK-6W
142.09 174.77
000-14061-001 Mounting Bracket for Link 6 VHF (White)
000-14058-001 VHF,FLUSH MOUNT KIT,LINK-6W 52.07 64.05
55.15 67.84
000-14057-001 LINK-6 Flush Mount Kit
151.80 186.71
000-14060-001 LINK-6 Mounting Bracket
73.60 90.53
000-14064-001 LINK-6 Mounting Bracket Knobs
41.40 50.92
000-14062-001 LINK-6 Mic Clip
101.15 124.42
000-14054-001 LINK-6 Suncover
Spare Parts
Part Number Description R?EL%CI' R(gg(;','/:)l
101.15 124.42
000-14911-001 LINK-9 VHF Suncover

354.15 435.61
Lowrance Link-9 Remote Mountable Fist Mic. Can be connected to the front or rear of the

000-14920-001 radio, and optional extension cable allows the radio and mic to be mounted in seperate
locations.
41.35 50.87
000-14918-001 LINK-9 Fist Mic mounting clip
128.75 158.37
000-14916-001 Link-9 VHF Mounting bracket with Knobs and Screws
55.15 67.84
000-14914-001 Link-9 VHF Flush Mounting kit.:Includes teplate, Gasket, Bezels and screws
151.80 186.71
000-14060-001 LINK-6 Mounting Bracket
73.60 90.53
000-14064-001 LINK-6 Mounting Bracket Knobs
41.40 50.92
000-14062-001 LINK-6 Mic Clip
000-10002-001 Sun Cover for Link-8 139.20 17122

Prices effective as of 31 Jan 2025 14950 Page: 88 of 113



VHF and AIS

AlS Class B
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

NAIS-500 class B AIS with GPS-500 GPS antenna. Broadcast your location to anyone nearby 3813.40 4690.48

with an AIS Receiver. A low cost safety system for recreational vessels and smaller
professional vessels in near coastal waters.

000-13609-001

NAIS-500 Class B AIS including NSPL500 VHF/AIS Antenna splitter and GPS500 antenna. 5055.40  6218.14

000-13963-001 Broadcast your location to anyone nearby with an AIS Receiver. A low cost safety system for
recreational vessels and smaller professional vessels in near coastal waters.

1237.40 1522.00
NSPL-500 AIS/VHF Antenna Splitter - Enables use of one VHF antenna on the vessel for both

000-13612-001 VHF and AIS.

Accessories

e RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)

1237.40 1522.00

000-13612-001 NSPL-500 AIS/VHF Antenna Splitter - Enables use of one VHF antenna on the vessel for both

VHF and AIS.

409.40 503.56
AA000355 Navico 1710 VHF antenna, 2.5 m (8 ft) ultraglass, quickfit @ 6dB

225.40 277.24
AA000358 Navico 1770 VHF antenna, 1 m (3 ft) Ultraglass, quickfit @ 3dB

248.40 305.53
AA000223 Heavy-Duty Nylon VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30
AA000224 Stainless Steel VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30
000-16055-001 VHF antenna mount. Heavy-duty stainless steel fold-down antenna mount. With attached 7 m

(23 ft) cable. Fastfit connector

345.00 424.35
AA000352 Navico 1720 VHF antenna, 1.1 m (3 ft) stainless masthead whip with bracket @ 3dB

133.40 164.08

AA000400 VHF extension cable 5 m (16 ft)

409.40 503.56
VHF mast cable 30 m (98 ft) for 1720 whip antenna.

AAD00401 With Quick Fit Connector one end and Masthead connector on the other.

391.00 480.93
000-15859-001 VHF ANTENNA,1Meter Back Fiberglass Stainless Steel, Quick fit fitting.

404.80 497.90
000-14968-001 Navico 1710 VHF antenna, 2.5 m (8 ft) ultraglass, quickfit @ 6dB BLACK
Spare Parts

Prices effective as of 31 Jan 2025 14950 Page: 89 of 113



VHF and AIS

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
NAIS-500 class B AIS module only. Broadcast your location to anyone nearby with an AIS 3629.40 4464.16
000-13611-001 Receiver. A low cost safety system for recreational vessels and smaller professional vessels
in near coastal waters.

271.40 333.82
000-13959-001 NAIS500/400 & Naviop OP-BOX Power & Serial Cable

Prices effective as of 31 Jan 2025 14950 Page: 90 of 113



Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
NMEA 2000® starter kit - Backbone required to install one or more NMEA 2000® devices 414.00 509.22
000-0124-69 includes Network power cable, 0.6 m (2 ft) N2K cable, 4.5 m (15 ft) N2K cable, 2 x
T-connectors, 2 x network terminators
414.00 509.22
000-10760-001 NMEA 2000 Micro-C Auto pilot network starter kit: Includes Network power cable, 4.5 m (15 ft)
N2K cable, 3 x T-connectors, and 2 x network terminators.
101.20 124.48
000-0119-79 N2K-T-RD - Micro-C T-connector for connection of an additional network device
000-12612-001 Low loss NMEA2000 4-way joiner. Connect four NMEA2000 Micro-C devices to the 331.20 407.38
NMEA2000 Network.
147.20 181.06
000-0119-88 N2KEXT-2RD - 0.61 m (2-ft) NMEA 2000® cable for backbone extension or drop cable to
connect an additional network device
230.00 282.90
000-0127-53 N2KEXT-6RD - 1.82 m (6-ft) NMEA 2000® cable for backbone extension or drop cable to
connect an additional network device
257.60 316.85
000-0119-86 N2KEXT-15RD - 4.55 m (15-ft) NMEA 2000® cable for backbone extension or or drop cable
to connect an additional network device
363.40 446.98
000-0119-83 N2KEXT-25RD - 7.58 m (25-ft) NMEA 2000® cable for network backbone extension only
. . 363.40 446.98
000-14376-001 NMEA 2000 Micro-C Medium duty cable. 2 m (6.5 ft) Low loss 18 gauge cable recommended
for network backbone runs
455.40 560.14
000-14377-001 NMEA 2000 Micro-C Medium duty cable. 6 m (19.7 ft) Low loss 18 gauge cable
recommended for network backbone runs
593.40 729.88
~ ~ NMEA 2000 Micro-C Medium duty cable. 10 m (33 ft) Low loss 18 gauge cable recommended
000-14378-001 for network backbone runs
NMEA 2000 Micro-C Medium duty cable. 20 m (65.6 ft) Low loss 18-gauge cable 731.40 899.62
000-14379-001 recommended for network backbone runs resulting in a more robust network. Cables are
identified by orange locking collars.
000-0127-52 TR-120-KIT - Set of 1 male and 1 female NMEA 2000® terminators 101.20 124.48
000-0119-75 N2K-PWR-RD - NMEA 2000® power cable. Includes power cable and 1 x T connector 278.36  342.38
184.00 226.32
~ -~ Network power isolator. Separates separately powered sections of the NMEA2000 network
000-12259-001 while letting data through.
213.26 262.31
000-0127-04 NAC-MRD2MBL - Adapter cable to enable connection of a legacy blue NMEA 2000® device
to a red or black Micro-C network
213.26 262.31
000-0127-05 NAC-FRD2FBL - Adapter cable to enable connection of a red or black Micro-C NMEA 2000®

device to a legacy blue network.

Prices effective as of 31 Jan 2025

14950

Page: 91 of 113



Network

Part Number Description R'?:Lﬁ()c" R(g(;l,‘/s'

545.15 670.54
SimNet to N2K Adapter Kit - Connect a SimNet device with a fixed SimNet cable to a NMEA
000-0127-45 2000® network; includes SimNet to N2k male adaptor, Simnet inline Joiner, NMEA2000® T
connector.

174.80 215.00

24005729 SimNet to Micro-C (male) cable that connects a SimNet product to a NMEA 2000® backbone.

0.5m (1.6 ft)
Spare Parts
i RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
174.80 215.00
24005729 SimNet to Micro-C (male) cable that connects a SimNet product to a NMEA 2000® backbone.

0.5m (1.6 ft)

Prices effective as of 31 Jan 2025 14950 Page: 92 of 113



Sensors
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
1283.40 1578.58
Point-1 GPS antenna provides extremely accurate and rapid boat position and speed updates
000-11047-002 to the network. Built in magnetic compass provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds. Note: For Autopilot, use Point-1AP or
Precision9!
1283.40 1578.58
Point-1 AP GPS and Heading antenna provides extremely accurate and rapid boat position
000-12930-002 and speed updates to the network. Built in magnetic compass with accuracy and tuning
specific for Lowrance Autopilots also provides chart stabilization and radar overlay, plus
accurate course over ground even at low speeds.
841.80 1035.41
000-15939-001 NMEA 0183® - NMEA 2000® converter. 1.8 m (6 ft) Micro-C to bare wire cable
768.20 944.89
000-15940-001 NMEA 2000® Remote MOB Button. An emergency Man-Over-Board (MOB) button, which will
trigger alerts across the NMEA2000® network.
3077.40  3785.20
~ -~ Precision-9 Compass - Outputs Heading, Rate Of Turn, Roll and Pitch over the NMEA 2000®
000-12607-001 network.
1789.40  2200.96
000-15735-001 DST-810 Depth/Speed/Temp Sensor. Plastic thru-hull housing.
1099.40 1352.26
000-11517-001 Fuel Flow Sensor - For gasoline engines. In-line sensor for 3/8" (9.5 mm) Inside Diameter fuel
line. Comes with 10ft cable and T-connector.
547.40 673.30
000-0120-62 Evinrude engine interface cable 4.5 m (15 ft) and T-connector
547.40 673.30
000-0120-37 Yamaha engine interface cable 4.5 m (15 ft) and T-connector
000-11518-001 Fluid Level Sensor - Connects to a standard suitable tank level sensor and transmits the tank 501.40 616.72
level on the the NMEA 2000 network.
547.40 673.30
000-11519-001 Speed Though Water Sensor - Transom-mount paddle wheel sensor, ideal for slow trolling
speeds where GPS is not as accurate. 3.1m (10ft) cable with Micro-C connector.
547.40 673.30
000-11520-001 Temperature Sensor - Can be mounted anywhere you want to monitor the temperature. Can
be configured to output a variety of different temperature types.
Through-Hull Temperature Sensor - Mount through the hull of the vessel or wall of a tank you 500.94 616.16
000-11521-001 want to monitor the temperature inside. Can be configured to output a variety of different
temperature types.
547.40 673.30
Fuel Data Manager - Monitors Fuel Rate/Fuel Flow from NMEA 2000 engines and fuel flow
000-11522-001 sensors, and accumulates Fuel Rate into Fuel Used. Outputs seasonal, trip and total fuel
used.
: . . 547.40 673.30
000-11523-001 Pressure Sensor - Configurable Pressure Sensor for various engine pressures. Max pressure
100PSI.

Prices effective as of 31 Jan 2025 14950 Page: 93 of 113



Accessories
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
000-12612-001 Low loss NMEA2000 4-way joiner. Connect four NMEA2000 Micro-C devices to the 331.20 407.38
NMEA2000 Network.
147.2 181.
000-0119-88 N2KEXT-2RD - 0.61 m (2-ft) NMEA 2000® cable for backbone extension or drop cable to 0 81.06
connect an additional network device
230.00 282.90
000-0127-53 N2KEXT-6RD - 1.82 m (6-ft) NMEA 2000® cable for backbone extension or drop cable to
connect an additional network device
257.60 316.85
000-0119-86 N2KEXT-15RD - 4.55 m (15-ft) NMEA 2000® cable for backbone extension or or drop cable
to connect an additional network device
547.40 673.30
Fuel Data Manager - Monitors Fuel Rate/Fuel Flow from NMEA 2000 engines and fuel flow
000-11522-001 sensors, and accumulates Fuel Rate into Fuel Used. Outputs seasonal, trip and total fuel
used.
545.15 670.54
SimNet to N2K Adapter Kit - Connect a SimNet device with a fixed SimNet cable to a NMEA
000-0127-45 2000® network; includes SimNet to N2k male adaptor, Simnet inline Joiner, NMEA2000® T
connector.
138.00 169.74
000-11148-001 Pole Mount for GS25 / ZG100 / POINT-1
133.40 164.08
000-10568-001 Accessory plug assembly for DST800
Spare Parts
P RRP excl. RRP incl.
Part Number Description (PLN) (23.0%)
133.40 164.08

000-10568-001

Accessory plug assembly for DST800

Prices effective as of 31 Jan 2025

14950

Page: 94 of 113



Network

Ethernet
Main Products

Part Number Description RTI':L%X)CL R(g?l;"(;%l

000-16144-001 Ethernet Cable -Yellow 5-Pin Male-Male - 0.6 m (2 ft) 114.95 141.39

1421.40 1748.32

000-10029-001 NEP-2 Network Expansion Port enables multiple displays to exchange chart data, waypoint
and route information, as well as interconnecting radar and echosounder modules.

174.80 215.00

000-0127-51 Ethernet Cable -Yellow 5-Pin Male-Male - 1.8 m (6 ft)

257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)

363.40 446.98
000-0127-30 Ethernet Cable -Yellow 5-Pin Male-Male - 7.6 m (25 ft)

501.40 616.72
000-0127-37 Ethernet Cable -Yellow 5-Pin Male-Male - 15.2 m (50 ft)

193.20 237.64
000-0127-56 Adapter cable: Ethernet yellow 5 pin male to RJ45 female, 2m (6.5ft)
Accessories

Part Number Description RF({EL%CI' R(gg(;','/:)l

114.95 141.39
000-16295-001 Transducer, Network cable pulling tools

174.80 215.00
000-0127-51 Ethernet Cable -Yellow 5-Pin Male-Male - 1.8 m (6 ft)

257.60 316.85
000-0127-29 Ethernet Cable -Yellow 5-Pin Male-Male - 4.5 m (15 ft)

363.40 446.98
000-0127-30 Ethernet Cable -Yellow 5-Pin Male-Male - 7.6 m (25 ft)

501.40 616.72
000-0127-37 Ethernet Cable -Yellow 5-Pin Male-Male - 15.2 m (50 ft)

Spare Parts

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
184.00 226.32
000-00128-001 4-pin Power Cable for modules and MFDs.
142.14 174.83
000-11447-001 Spare WIFI-1 Power Cable.

Prices effective as of 31 Jan 2025 14950 Page: 95 of 113



Entertainment/Weather

Cameras
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

257140  3162.82

000-15876-001 The IP CAM-1 marine grade 316 stainless steel IP camera. Powered by 12V DC or PoE.
Accessories
Part Number Description R'?SL‘LX)C" Rgg (;':/f)l
193.20 237.64
000-14552-001 Ethernet adapter cable, RJ45 F to 5 Pin male, 1.5 m (4.9 ft). Ships with water proof boot.

Prices effective as of 31 Jan 2025 14950 Page: 96 of 113



REVEAL COASTAL™
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)

915.40 1125.94
M-AF-Y209-MS REVEAL: M-AF-Y209-MS South & East Africa

915.40 1125.94
M-AF-Y210-MS REVEAL: M-AF-Y210-MS West Africa

915.40 1125.94
M-EM-Y076-MS REVEAL: M-EM-Y076-MS South-West European Coasts

915.40 1125.94
M-EM-Y111-MS REVEAL: M-EM-Y111-MS East Mediterranean, Caspian Seas

915.40 1125.94
M-EN-Y070-MS REVEAL: M-EN-Y070-MS Central Europe Inland

915.40 1125.94
M-EN-Y299-MS C-MAP REVEAL - M-EN-Y299-MS - Baltic Sea

915.40 1125.94
M-EN-Y300-MS C-MAP REVEAL - M-EN-Y300-MS - North Sea & Denmark

915.40 1125.94
M-EN-Y326-MS C-MAP REVEAL - M-EN-Y326-MS - Finland Lakes

915.40 1125.94
M-EN-Y580-MS C-MAP REVEAL - M-EN-Y580-MS - Scandinavia Inland

915.40 1125.94
M-EW-Y065-MS REVEAL: M-EW-Y065-MS France Coastal & Inland

915.40 1125.94
M-EW-Y226-MS REVEAL: M-EW-Y226-MS United Kingdom

915.40 1125.94
M-EW-Y227-MS REVEAL: M-EW-Y227-MS North-West European Coasts

915.40 1125.94
M-EW-Y228-MS REVEAL: M-EW-Y228-MS West European Coasts

915.40 1125.94
M-ME-Y204-MS REVEAL: M-ME-Y204-MS Red Sea to The Gulf & Seychelles Islands

915.40 1125.94
M-RS-Y013-MS REVEAL: M-RS-Y013-MS Kamchatka Peninsula & Kuril Islands

915.40 1125.94
M-RS-Y202-MS REVEAL: M-RS-Y202-MS Russian Federation — North West

915.40 1125.94
M-RS-Y203-MS REVEAL: M-RS-Y203-MS Russian Federation — North Central

Prices effective as of 31 Jan 2025 14950 Page: 97 of 113



Part Number Description R'?:Lﬁ()c" R(g(;l,‘/s'

915.40 1125.94
M-RS-Y204-MS REVEAL: M-RS-Y204-MS Russian Federation — North East

915.40 1125.94
M-RS-Y207-MS REVEAL: M-RS-Y207-MS Hokkaido and Sakhalin Islands

Prices effective as of 31 Jan 2025 14950 Page: 98 of 113



C-MAP Discover
Main Products

RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)

593.40 729.88
M-AF-Y200-MS DISCOVER: M-AF-Y200-MS Cameroon to South Africa

593.40 729.88
M-AF-Y201-MS DISCOVER: M-AF-Y201-MS South Africa to Mozambique

593.40 729.88
M-AF-Y220-MS DISCOVER: M-AF-Y220-MS Pemba to Mogadishu

593.40 729.88
M-EM-Y040-MS DISCOVER: M-EM-Y040-MS lItalian Lakes & Po River

593.40 729.88
M-EM-Y200-MS DISCOVER: M-EM-Y200-MS West Mediterranean

593.40 729.88
M-EM-Y201-MS DISCOVER: M-EM-Y201-MS Central Mediterranean

593.40 729.88
M-AF-Y214-MS DISCOVER: M-AF-Y214-MS Cape Verde & Guinea Bissau

593.40 729.88
M-EM-Y202-MS DISCOVER: M-EM-Y202-MS Mediterranean South Central

593.40 729.88
M-EM-Y203-MS DISCOVER: M-EM-Y203-MS Adriatic & lonian Seas

593.40 729.88
M-EM-Y204-MS DISCOVER: M-EM-Y204-MS Aegean Sea & Sea of Marmara

593.40 729.88
M-EM-Y205-MS DISCOVER: M-EM-Y205-MS Black Sea & Sea of Azov

593.40 729.88
M-EM-Y206-MS DISCOVER: M-EM-Y206-MS Mediterranean South East

593.40 729.88
M-EN-Y200-MS C-MAP DISCOVER: M-EN-Y200-MS Bodg - Kirkenes

593.40 729.88
M-EN-Y201-MS DISCOVER: M-EN-Y201-MS Kristiansund - Finnsnes

593.40 729.88
M-EN-Y202-MS DISCOVER: M-EN-Y202-MS Bergen to Brandsfjorden

593.40 729.88
M-EN-Y203-MS DISCOVER: M-EN-Y203-MS Farsund to Malgy

593.40 729.88
M-EN-Y204-MS DISCOVER: M-EN-Y204-MS Fiskebackskil to Lyndgal

Prices effective as of 31 Jan 2025 14950 Page: 99 of 113



Part Number Description R'?:Lﬁ()c" 3?;6',}5'

593.40 729.88
M-EN-Y205-MS DISCOVER: M-EN-Y205-MS Karlskrona to Emden

593.40 729.88
M-EN-Y206-MS DISCOVER: M-EN-Y206-MS Torekov to Larvik

593.40 729.88
M-EN-Y207-MS DISCOVER: M-EN-Y207-MS Malmé to Valdermarsvik

593.40 729.88
M-EN-Y208-MS DISCOVER: M-EN-Y208-MS Vastervik to Valdermarsvik

593.40 729.88
M-EN-Y209-MS DISCOVER: M-EN-Y209-MS Gulf of Bothnia

593.40 729.88
M-EN-Y210-MS DISCOVER: M-EN-Y210-MS Scandinavia Inland Waters

593.40 729.88
M-EN-Y211-MS DISCOVER: M-EN-Y211-MS Finland Lakes

593.40 729.88
M-EN-Y212-MS DISCOVER: M-EN-Y212-MS Gulf of Finland & Aland Islands Archipelago

593.40 729.88
M-EN-Y213-MS DISCOVER: M-EN-Y213-MS Latvia, Lithuania & Russia

593.40 729.88
M-EN-Y214-MS DISCOVER: M-EN-Y214-MS Polish Coast & Inland

593.40 729.88
M-EN-Y215-MS DISCOVER: M-EN-Y215-MS Germany & Netherland Inland

593.40 729.88
M-EN-Y216-MS DISCOVER: M-EN-Y216-MS Benelux Inland & Coastal

593.40 729.88
M-EN-Y217-MS DISCOVER: M-EN-Y217-MS Central Europe Inland

593.40 729.88
M-EN-Y218-MS DISCOVER: M-EN-Y218-MS Iceland, Faroe, Shetland & Orkney Islands

593.40 729.88
M-EN-Y630-MS DISCOVER: M-EN-Y630-MS Pechenga to Lumbovskiy Gulf

593.40 729.88
M-EW-Y206-MS DISCOVER: M-EW-Y206-MS French Inland Waters

593.40 729.88
M-EW-Y207-MS DISCOVER: M-EW-Y207-MS Bay of Biscay

593.40 729.88
M-EW-Y208-MS DISCOVER: M-EW-Y208-MS Portugal & Galicia

Prices effective as of 31 Jan 2025

14950

Page: 100 of 113



RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)

593.40 729.88
M-EW-Y209-MS DISCOVER: M-EW-Y209-MS Canary Island to Gibraltar

593.40 729.88
M-ME-Y200-MS DISCOVER: M-ME-Y200-MS Red Sea

593.40 729.88
M-ME-Y201-MS DISCOVER: M-ME-Y201-MS Persian Gulf to Oman

593.40 729.88
M-RS-Y009-MS DISCOVER: M-RS-Y009-MS Kyongsong Man to Plastun

593.40 729.88
M-RS-Y221-MS DISCOVER: M-RS-Y221-MS White Sea

851.00 1046.73
M-EW-Y060-MS DISCOVER: M-EW-Y060-MS Central & West Europe

381.80 469.61
M-RS-Y240-MS DISCOVER: M-RS-Y240-MS Tauyskaya Bay

851.00 1046.73
M-AF-Y003-MS DISCOVER: M-AF-Y003-MS Antarctica

851.00 1046.73
M-AF-Y050-MS DISCOVER: M-AF-Y050-MS Africa & Arabian Sea

851.00 1046.73
M-EM-Y045-MS DISCOVER: M-EM-Y045-MS Southern Europe

851.00 1046.73
M-EN-Y040-MS DISCOVER: M-EN-Y040-MS Greenland

851.00 1046.73
M-EN-Y050-MS DISCOVER: M-EN-Y050-MS Northern & Central Europe

851.00 1046.73
M-EN-Y055-MS DISCOVER: M-EN-Y055-MS Baltic Sea

693.98 853.59
M-EW-Y200-MS DISCOVER: M-EW-Y200-MS United Kingdom & Ireland

Prices effective as of 31 Jan 2025 14950 Page: 101 of 113



Power Systems

Naviop Kits
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

5012.80  6165.75
Naviop LOOP S Digital Switching System Kit - Simple, yet powerful control and monitoring
000-14666-001 features through an integrated sidebar on an MFD showing dedicated functions. 8 fused relay
controlled channels + 8 fused channels.

8661.06 10653.11
Naviop LOOP S+ Digital Switching System Kit - Simple, yet powerful control and monitoring
000-14665-001 features through an integrated sidebar on an MFD showing dedicated functions. 16 fused
relay controlled channels + 16 fused channels.

Naviop LOOP M+ Digital Switching System Kit - A customized monitoring and control system 7760.84 9545.84

000-14664-001 sporting dedicated pages with a clear view of power board status, down to the single fuse or
relay. 8 fused relay controlled channels + 8 fused channels.

12309.32 15140.47
Naviop LOOP M+ Digital Switching System Kit - A customized monitoring and control system
000-14663-001 sporting dedicated pages with a clear view of power board status, down to the single fuse or
relay. 16 fused relay controlled channels + 16 fused channels.

Accessories
Part Number Description R?EL%CI' 35;6[,}3'
4002.00  4922.46
31M-316-0 Naviop EGON+ 12V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
4002.00  4922.46
31M-335-0 Naviop EGON+ 24V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
4002.00  4922.46
31M-336-0 Naviop EGON+ Power 12V DC - 8 channels Fuse+Relay
4002.00  4922.46
31M-337-0 Naviop EGON+ Power - 24V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
113.62 139.75
000-14844-001 Naviop EGON+ 12VDC Replacement Relay
358.80 441.32
C-EGON-01 Naviop EGON Power and CAN Cable - CAN ID 2
358.80 441.32
C-EGON-02 Naviop EGON Power and CAN Cable - CAN ID 2
358.80 441.32
C-EGON-03 Naviop EGON Power and CAN Cable - CAN ID 3
358.80 441.32
C-EGON-04 Naviop EGON Power and CAN Cable - CAN ID 4
225.40 277.24
000-14901-001 Naviop EGON Plug Set- Includes 1x Blue connector, 1x Green connector, 1x Grey connector,
1x Black Connector, 24x EGON Power Contacts, 24x Cable Seals.
4733.40  5822.08
000-15212-001 Naviop OP-BOX - LOOP M/ M+ - Processing and protocols Unit with PLC programming

capability.

Prices effective as of 31 Jan 2025 14950 Page: 102 of 113



Power Systems

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

296.01 364.09

BERMINI-USAA-1M Naviop OP-BOX USB Cable
271.40 333.82
C-28576 Naviop CAN Drop Cable NA30
257.60 316.85
C-28574 Naviop CAN Drop Cable for NOVA+ - 1.2m
140.30 172.57
C-34686 Axial DB9 Male Cable for RS323/485 - 2m
483.00 594.09
C-DAU-CABLE Naviop Wiring Harness for DAU Units - 2m
4830.00  5940.90
DAU-B-128 Naviop DAU Bridge - CAN ID 128
4830.00  5940.90
DAU-E-136 Naviop DAU Easy - CAN ID 136
4830.00  5940.90
DAU-E-137 Naviop DAU Easy - CAN ID 137

4278.00  5261.94
Naviop SE NOVA+ Light Board - NOVA+ is a solid state lighting control board designed
NA05-0003 specifically for use in marine environments, and enables dimmable lighting control of up to 8
separate circuits, each of them being protected by a pull-out fuse. Naviop-CAN connection to
the monitoring and control system is available. Only for Naviop LOOP-P Systems.

Naviop SE NOVA+ Light Board w/ Harness - NOVA+ is a solid state lighting control board 4370.00  5375.10
designed specifically for use in marine environments, and enables dimmabile lighting control of
NA05-0003-H up to 8 separate circuits, each of them being protected by a pull-out fuse. Naviop-CAN
connection to the monitoring and control system is available. Only for Naviop LOOP-P
Systems.

Prices effective as of 31 Jan 2025 14950 Page: 103 of 113



Power Systems

Naviop Parts
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
5865.00 7213.95
000-15756-001 Naviop OP-BOX Programmable 1GHz
4549.40  5595.76
000-15897-001 OP-BOX 1Ghz, Programmable, with Power cable
1283.40 1578.58
000-14991-001 Naviop AT30 Protocol Converter - N2K To Naviop CAN Gateway for bridging the vessels
NMEA2000 network to the Naviop Digital Switching system.
4002.00  4922.46
31M-316-0 Naviop EGON+ 12V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
4002.00  4922.46
31M-335-0 Naviop EGON+ 24V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
4002.00  4922.46
31M-336-0 Naviop EGON+ Power 12V DC - 8 channels Fuse+Relay
4002.00  4922.46
31M-337-0 Naviop EGON+ Power - 24V DC 16 Channels - 8 channels Fuse+Relay, 8 channels Fuse only
113.62 139.75
000-14844-001 Naviop EGON+ 12VDC Replacement Relay
358.80 441.32
C-EGON-01 Naviop EGON Power and CAN Cable - CAN ID 2
358.80 441.32
C-EGON-02 Naviop EGON Power and CAN Cable - CAN ID 2
358.80 441.32
C-EGON-03 Naviop EGON Power and CAN Cable - CAN ID 3
358.80 441.32
C-EGON-04 Naviop EGON Power and CAN Cable - CAN ID 4
2254 277.24
000-14901-001 Naviop EGON Plug Set- Includes 1x Blue connector, 1x Green connector, 1x Grey connector, 5.40
1x Black Connector, 24x EGON Power Contacts, 24x Cable Seals.
4733.40  5822.08
000-15212-001 Naviop OP-BOX - LOOP M / M+ - Processing and protocols Unit with PLC programming
capability.
296.01 364.09
BERMINI-USAA-1M Naviop OP-BOX USB Cable
271.40 333.82
C-28576 Naviop CAN Drop Cable NA30

Prices effective as of 31 Jan 2025 14950 Page: 104 of 113



Power Systems

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

257.60 316.85

C-28574 Naviop CAN Drop Cable for NOVA+ - 1.2m
140.30 172.57
C-34686 Axial DB9 Male Cable for RS323/485 - 2m
483.00 594.09
C-DAU-CABLE Naviop Wiring Harness for DAU Units - 2m
4830.00  5940.90
DAU-B-128 Naviop DAU Bridge - CAN ID 128
4830.00  5940.90
DAU-E-136 Naviop DAU Easy - CAN ID 136
4830.00  5940.90
DAU-E-137 Naviop DAU Easy - CAN ID 137

4278.00  5261.94
Naviop SE NOVA+ Light Board - NOVA+ is a solid state lighting control board designed
NA05-0003 specifically for use in marine environments, and enables dimmable lighting control of up to 8
separate circuits, each of them being protected by a pull-out fuse. Naviop-CAN connection to
the monitoring and control system is available. Only for Naviop LOOP-P Systems.

Naviop SE NOVA+ Light Board w/ Harness - NOVA+ is a solid state lighting control board 4370.00  5375.10
designed specifically for use in marine environments, and enables dimmable lighting control of
NA05-0003-H up to 8 separate circuits, each of them being protected by a pull-out fuse. Naviop-CAN
connection to the monitoring and control system is available. Only for Naviop LOOP-P
Systems.

271.40 333.82
000-13959-001 NAIS500/400 & Naviop OP-BOX Power & Serial Cable

Prices effective as of 31 Jan 2025 14950 Page: 105 of 113



Service Parts

Service Parts
Main Products

Part Number

000-14256-001

Description

Replacement fairing block for combined StructureScan® 3D L/H and M/H Through-Hull
Transducers.

RRP excl. RRP incl.
(PLN) (23.0%)

501.35 616.67

000-14260-001

TotalScan™ Through-Hull Transducer Fairing Block Only

501.40 616.72

000-14503-001

LINKPRO SERVICE TOOL

1007.40 1239.10

151-10333-001

SERVICE SONARHUB

1591.60 1957.67

Accessories
Part Number Description R'?EL%X)C" 35;65}3'
354.15 435.61
000-0106-72 HST - WSBL 83/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector . Cable
Length 6 m (20 ft)
. . 712.95 876.93
000-0106-77 HST-DFSBL 50/200 kHz transom-mount skimmer depth/temp - blue 7 pin connector. Cable
Length 6 m (20 ft)
455.35 560.09
000-0106-94 PTI-WBL - Ice transducer with 7-pin blue connector. 7ft Cable.
391.00 480.93
000-0099-95 TS-1BL Temperature sensor (non-networked) Cable Length 6 m (20 ft).

000-10046-001

7pin adapter cable to bare wires. To connect a bare-wire transducer to a display with 7pin
sonar port.

133.40 164.08

000-0099-93

XT-12BL 12ft blue 7 pin transducer extension Cable: 3.65 m (12 ft)

225.35 277.19

000-10976-001

HDI Skimmer® transducer 83/200/455/800kHz with built in temp. Includes mounting bracket
and hardware. Cable Length 6m (20 ft)

666.95 820.35

000-0099-94

XT-20BL 20ft blue 7 pin transducer extension cable: 6 m (20 ft)

225.35 277.19

000-10977-001

HDI Skimmer® transducer 50/200/455/800kHz with built in temp. Includes mounting bracket
and hardware. Cable Length 6 m (20 ft)

1310.95  1612.47

91.95 113.10

000-0051-45 TMB-S Trolling-motor mount bracket for standard Skimmer® transducer
. . 213.54 262.66
000-0099-44 QCEZC—I(Cle/t\F - AC power adapter to female cigarette lighter socket for power from 120V wall
298.95 367.71
000-0119-10 CA-8 - Cigarette plug power cable for all 5" and above Lowrance products except X-96

000-10027-001

Quick Release Bracket - GO5 / Vulcan5 / P2005 / 13005 / Mark / Elite

130.36 160.34

Prices effective as of 31 Jan 2025

14950

Page: 106 of 113



Service Parts

Part Number

000-10909-001

Description

RAM QUICK RELEASE BRACKET 1" BALL:
Mark 4 & 5

Elite 3,4 & 5

Elite Ti5 & 7

Go5

RRP excl. RRP incl.
(PLN) (23.0%)

182.41 22437

000-10910-001

RAM QUICK RELEASE BRACKET 1.5" BALL:
Mark 4 & 5

Elite 3,4 &5

Elite Ti56 & 7

Go5

260.59 320.53

000-10978-001

HDI TROLLING MOTOR ADAPTOR FOR SKIMMER (*only for 83/200/455/800 HDI Skimmer
transducer)

119.55 147.05

000-11307-001

SUNCOVER: 4" MARK/ELITE/HOOK

110.35 135.74

000-11308-001

FLUSH MOUNT KIT: 4" MARK/ELITE/[HOOK

86.99 107.00

Prices effective as of 31 Jan 2025

14950

Page: 107 of 113



Service Parts

Displays
Main Products
Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l
317.40 390.40
000-12742-001 HE\Di/lclocl\?llglgsw\i\t/ir;t:/ﬁrDalt/iI(I)r;)g?ts.iStant and waterproof connector on one end to connect to
529.00 650.67
000-12741-001 naD\i\{lgoCﬁt[):lgs\A/xﬂr:/ilz)rDa'E/il?r;)g?Ts.istant and waterproof connector on one end to connect to
000-16444-001 Protective suncover for Elite FS 12 147.20 181.06
000-16443-001 Protective suncover for Elite FS 10 147.20 181.06
000-16446-001 Elite™ FS 12 Flushmount kit 94.71 116.50
000-16445-001 Elite™ FS 10 Flushmount kit 94.71 116.50
101.15 124.42

000-0124-70

CAP-1 - Set of connector caps for HDS series

Prices effective as of 31 Jan 2025

14950

Page: 108 of 113



Service Parts

Sonar
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

000-15470-001 B744VC ACTIVE INSERT - REPLACEMENT 1421.40  1748.32

500.94 616.16

000-11040-001 Adapts LSS-1 transducers to HDS Gen2 Touch units and to LSS-HD modules.
147195  1810.50
000-14963-001 Replacement Ice Mount for LiveSight Transducer
220.80 271.58
000-0127-54 Power cable for BSM-1, LSS-2 2 m (6.5 ft)

Prices effective as of 31 Jan 2025 14950 Page: 109 of 113



Service Parts

Radar
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

275540  3389.14

000-10795-001 SC20 Mast mount kit for HALO 20/20+ and Broadband Dome Radars.

303.60 373.43
000-10904-001 CABLE,BB RADAR,EXT EXTENSION,2M

354.20 435.67
000-10905-001 CABLE,BB RADAR,EXTERNAL,5M

299.00 367.77
000-14551-001 Ejr:jaﬁles re-use of the existing BR24/3G/4G cable onboard when upgrading to a HALO Dome

193.20 237.64
000-14552-001 Ethernet adapter cable, RJ45 F to 5 Pin male, 1.5 m (4.9 ft). Ships with water proof boot.

547.40 673.30
000-14548-001 Power / Ethernet cable, 10 m (33 ft) for HALO dome radars and B&G Nemesis displays

823.40 1012.78
000-14549-001 Power / Ethernet cable, 20 m (65.5 ft) for HALO dome radars and B&G Nemesis displays

1099.40 1352.26

000-14550-001 Power / Ethernet cable, 30 m (98.5 ft) for HALO dome radars and B&G Nemesis displays

354.20 435.67
000-14547-001 Power / Ethernet cable, 5 m (16.5 ft) for HALO dome radars and B&G Nemesis displays
Accessories

Part Number Description RTEL%X)C" R(gg(;f,}sl

114.95 141.39

000-16295-001 Transducer, Network cable pulling tools

Prices effective as of 31 Jan 2025 14950 Page: 110 of 113



Service Parts

VHF AIS
Main Products

Part Number Description RTIEL?‘IX)CL R(g?l;"(;%l

411.73 506.43

000-11727-001 RS90/V90 20m (65 ft) Handset cable. Includes phoenix connector and bulkhead mount

409.40 503.56
AA000355 Navico 1710 VHF antenna, 2.5 m (8 ft) ultraglass, quickfit @ 6dB

225.40 277.24
AA000358 Navico 1770 VHF antenna, 1 m (3 ft) Ultraglass, quickfit @ 3dB

248.40 305.53
AA000223 Heavy-Duty Nylon VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30
AA000224 Stainless Steel VHF Antenna mount. Quick-Fit with 5m (16ft) cable

345.00 424.35
AA000352 Navico 1720 VHF antenna, 1.1 m (3 ft) stainless masthead whip with bracket @ 3dB

133.40 164.08
AA000400 VHF extension cable 5 m (16 ft)

409.40 503.56
AA000401 VHF mast cable 30 m (98 ft) for 1720 whip antenna.

With Quick Fit Connector one end and Masthead connector on the other.

48.67 59.86

000-10378-001 VKIT-9 Flush Mount Kit for RS10, RS12 and RS25
260.59 320.53
000-11564-001 BC-10 VHF Charger w/ US Power Adapter for HH36 and LINK-2 VHF.
182.41 224.37
000-11562-001 BC-10 VHF Charger w/ 12V CIG Plug for HH36 and LINK-2 VHF.
391.00 480.93
000-15859-001 VHF ANTENNA,1Meter Back Fiberglass Stainless Steel, Quick fit fitting.
73.60 90.53
000-14263-001 RS20/V20 Mounting Bracket Knobs
28.43 34.97
000-13716-001 Bracket Kit - Water Level or Antenna Mount
404.80 497.90
000-14066-001 VHF Interface - Type 6. For Simrad RS20/RS40, B&G V20/V60
Accessories

Prices effective as of 31 Jan 2025 14950 Page: 111 of 113



Service Parts

Part Number Description R'?:Lﬁ()c" 3?;6',}5'

248.40 305.53
AA000223 Heavy-Duty Nylon VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30

AA000224 Stainless Steel VHF Antenna mount. Quick-Fit with 5m (16ft) cable

547.40 673.30

VHF antenna mount. Heavy-duty stainless steel fold-down antenna mount. With attached 7 m

000-16055-001 (23 ft) cable. Fastfit connector

133.40 164.08

AA000400 VHF extension cable 5 m (16 ft)

409.40 503.56

VHF mast cable 30 m (98 ft) for 1720 whip antenna.

AAD00401 With Quick Fit Connector one end and Masthead connector on the other.

Prices effective as of 31 Jan 2025 14950 Page: 112 of 113



Service Parts

Autopilot
Main Products
RRP excl. RRP incl.

Part Number Description (PLN) (23.0%)
1237.40 1522.00
000-12359-001 WR10 BT-1 Base Station Only
961.40 1182.52
000-12358-001 WR10 Wireless Remote for Autopilot.

Prices effective as of 31 Jan 2025 14950 Page: 113 of 113



